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Section type: Online
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Section Marks: 20
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Sub-Section 1d: 998367327
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983675601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

PIXEL : LETCH : : COSMOS : ?
Options:

1 + YQOIQO

9 & YOQIOU

3 % ZQOIQP

4. % YMOIMO

Question Number : 1 Question Id : 9983675601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ T0T T I S OrEL I0T THE W SH O ¥ WO g, W o @ gy I07 weg vEe 90T W @
TafoT ¥

PIXEL 2 LKICH : : COSMOS o

Options:

1. ¢ YQOIQO

2 % YOQIOU



3. % ZQOIQP

4. » YMOIMO

Question Number : 2 Question Id : 9983675602 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.

3665:106::729]1:7
Options:

1. = 132

7P » 135

3. % 172

4. % 188

Question Number : 2 Question Id : 9983675602 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TF T T S AU TEw ¥ S0 e ¥ wAa ¥, W ave ¥ oo we vee wew ¥ v ¥
3665 : 106 : : 7291 : ?

Options:

1. = 132

2. « 135



3. % 172

4. » 188

Question Number : 3 Question Id : 9983675603 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. = 234:

LN
[~

I3
|

7 %= 148:

_h
e

3. % 568:

4« 246:19

Question Number : 3 Question Id : 9983675603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Yeod TEAT TeAT H ¥ & U il ¥ §A g, F9ie 390 § UF HelT g1 $a8 & v 91

Options:

1. = 234:52

2w 148 : 27

3. » 568 : 54



A. v 246 : 19

Question Number : 4 Question Id : 9983675604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

() [ e =
N E

B [SRIEER

Options:

L b
2. %

o T
.

Question Number : 4 Question Id : 9983675604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

51 IFfous FFHAA H & 98 Hpia I A S IFH(A IHTg B G Hal &7

&) [
© [T 2

AR

Options:




& 4 = P

Question Number : 5 Question Id : 9983675605 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:
1. v MAGNIFY : CWIJUBE

? % MYSTERY : OUIRUNA

3. % DEVELOP:RAZCLKH

/A. % LANTERN : TWHRINA

Question Number : 5 Question Id : 9983675605 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AN Yeod d07 FAE AT H § A1 U e ¥ A g, FE(F 3949 § T 79T g1 a4 § Fww )

Options:



1. v MAGNIFY : CWIJUBE

2. = MYSTERY : OQUIRUNA

3. = DEVELOP : RAZCLKH

4. = LANTERN : JWHRJNA

Question Number : 6 Question Id : 9983675606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures have.

Problem Figures

Options:

B B B ©




Question Number : 6 Question Id : 9983675606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 o Hpiadl H ¥ Jg Hgpia I+ oras HfEeeror & gae smpiadt & §A 2
3cek 3HTpid

Options:

®

1.

ED

©

Question Number : 7 Question Id : 9983675607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:



1. ® Detailed : Meticulous
2 Friendly : Amiable
3. % Loose:Slack

4. « Poor: Affluent

Question Number : 7 Question Id : 9983675607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN Yecd o6 A H X A T F W TA §, FalF 397 § TF 70T g1 a7 ¥ faws 7+
Options:

1y WEEAR : gEATeur

5y AT wERE

3 % Ol : AR

4. v 0T : 3EY

Question Number : 8 Question Id : 9983675608 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Two different positions of the same dice are shown below. Which symbol is on the face opposite the face showing “@’?

Options:



[
®
He

7 % %

Question Number : 8 Question Id : 9983675608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T & TEH (TH) F e Herer-HewT i & % g1 ‘@ ReT W/ woe F Feg I Bele W
Fl o gl B2

Options:

1. = #
2. % %
3. v &

Question Number : 9 Question Id : 9983675609 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following patterns of the dices can be formed when the sheet given below is folded?

&
T
%
#
* % # @
@% ¢# &s 8‘#

Options:
1. % ©Onlyland3

? % Only3and4

7 % Onlyl.2and4

4],  Onlyl 3and4

Question Number : 9 Question Id : 9983675609 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



S 9eed ofe @ Wies faar Srar 8, 99 3EE (TR) F SSHA A ¥ FiA 6 U I Hepar g2

&
@ | « | &
%
#
. % # @
@% .,# &$ &ﬂ

Options:

1. % aer 1 3R 3

2 x HEIT 3 3R 4

3. 0w waer 1, 23R4

4. o HFer 1, 33R4

Question Number : 10 Question Id : 9983675610 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Zenith starts from his home and goes 30 m towards West. From there, he turns left and walks 28 m and reaches his shop.
From his shop he goes 17 m towards West and then turns left and walks 14 m. After than he turns right and walks 20 m.
He finally turns right and walks 24 m and reaches his friend’s Ankit’s home.

What is the shortest distance between Ankit’s home and Zenith’s shop?

Options:



1. % 36m

3. ¢ 38m

4 = 40m

Question Number : 10 Question Id : 9983675610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s a9 o & 30 m IRFA F ¥ TAA B T F IF 9% AN JqIA 28 m T g 3R I

G R g ST g1 R 97 Hoel g & 17 m 9fRew H iR gerar § R R 9 R g 14m
T g1 38 91E 9¢ Y FF &% AT J5HT 20 m TeaT g1 3 H g a5 AW I 24 m T @
3t 3w & ifra & W ET e g

e & W iR Iy F gF= F 7 3T gfr g F

Options:
1. = 36 m
2 % 37 m
3. v 38 m
4 = 40 m

Question Number : 11 Question Id : 9983675611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which number will replace the question mark in the given matrix?

428 |7 |30
64 2712|143
481 |13 |23
77)? 18|46

Options:

1. = 27
2. % 64

3. ¢ 125

Question Number : 11 Question Id : 9983675611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Jecd HEUg H I e & T W Bl A GEAT HCA?

4218 |7 |30
6427|1243
481 13|23
777 | 18|46
Options:
1. = 27



3. v 125

4. » 216

Question Number : 12 Question Id : 9983675612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight friends P. Q, R, S. W, X, Y and Z are sitting around a round table facing the centre. P is not sitting near R. Q is
second to the left of Z. R is second to the right of Y. S is sitting exactly to the right of Z. W is sitting between Q and R. P
is at fourth place from Xs left.

Which of the following statement is NOT correct?
Options:
1. % Rissitting between W and X.

2 Xis third to the left of Q and third to right of Y.
3w Qissitting between P and W.

4. » Risatequal distance from Z from both the ends.

Question Number : 12 Question Id : 9983675612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEFET P, Q, R, S, W, X, Y #R Z U 7ier A o ge-Fie I 1 3R ST U SS €1 P, R &
e oo g Q ZF TR INTW T REIR, Y F &% AR g TUF Wl S 8F Z Hrag
WX FT T W, Q 3R R & i da1 g1 P, X & 912 AT =Y TuE w2

TTH T HiT AT FUT Fér Fal 27

Options:

1. = R, W 3k X & &= =7 21



2 o X Q#Fr g I AW TAE W IR Y H g8 WY AW TS W

3. % Q P33R WF &= dar gl

A » REE TG A Z A THAA Y W I

Question Number : 13 Question Id : 9983675613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rajendra and Sunaina are sitting facing each other. At the time of sunrise, if the shadow of Sunaina falls to the left of
Rajendra, which direction is Rajendra facing?

Options:
1. = East

? % West
3.« North

/. % South

Question Number : 13 Question Id : 9983675613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3R GATaT U g H TRE T S 4 g1 GIHET F wHY, IS gAgem H orw w6y & 65
3R I &, & T e e & g = d

Options:




Question Number : 14 Question Id : 9983675614 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Three passengers Harsh, Kripal and Vedavati have to catch flights for one of three cities Chennai, Hyderabad and
Mumbai. The flights’ timings are 7:00 a.m., 8:00 a.m. and 9:00 a.m. The first flight will take off at 7:00 a.m. for
Chennai. Vedavati is not travelling to Chennai. Mumbai flight is at 9:00 a.m. Kripal takes 8:00 a.m. flight.

Which flight will Harsh take and at what time?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Chitra— 10:00 a.m. — Bengaluru

2 Mumal — 7:00 a.m. — Chennai

3 Kripal - 9:00 a.m. — Mumbai

4], Farah — 12:00 noon - Delhi

Question Number : 14 Question Id : 9983675614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e AT g9, e R JgEd # 57 A ugl IS, dere HR H9E # ¥ ve o’ #r v
YS! g1 TS F WAY § GAg 7 9, GIE 8 I 3N YA€ 9 | UgeH FAEE FewAs & [0 YT 7
I 3B M| FeE Aoy A A @ g1 HIS B FRE FIE O oA g1 FI GAE 8 T HY T
T F

T =7 § FiF o verse 99w AR §ET o 99 w17

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



1 forar - gog 10 5% - ST

2 A - gag 7 a - AeAs

g N - GIE 9 & - Haw

4. HUE - A9eT 12 F - ool

Question Number : 15 Question Id : 9983675615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the below Venn diagram, identify a teacher and trainer who is NOT a consultant.

Teachsr

Consultant

Options:
1. &= A

2.« B



Question Number : 15 Question Id : 9983675615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH 39-3@ #H, 0 et 3T 9fdeTs Fr 9g=e FY, ST gogw Jér ¢l

fareTs

&

HATghIY
Options:
1. = A
2. v B
3. = C
4, = D

Question Number : 16 Question Id : 9983675616 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four people saw a robber who burgled a house in the neighborhood the previous day. Whose description about the
robber is most likely to be correct?

Person 1: He was tall, fair and thin.
Person 2: He was bald, young and thin.
Person 3: He was thin, bald and tall.
Person 4: He was fair, short and bald.

Options:



1. % Person4

? % Person?2

3.« Person3

/. = Personl

Question Number : 16 Question Id : 9983675616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁ#wwmmﬁﬁqﬁﬁ#mﬁm#ﬁlﬁﬁmgﬁmﬁﬁﬂmmw
g & geraar &7

wfFa 1: Jg #&r, M A#R gaqer
=fFg 2: I 979, AteErT 3T gq9er o)
=fed 3: I8 999, T=T AT FEr an
coTad 4: I TR, AT 3R =T o

Options:
1. = a4
2.« e 2
3. v =&Fa3
4. » cafEa i

Question Number : 17 Question Id : 9983675617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
given statements:

Statements:

All whistles are test tubes.
Some test tubes are utensils.
All utensils are bulbs.

Conclusions:
I. Some utensils are wires.
II. Some utensils are test tubes.
III. Some bulbs are utensils.
IV. No utensil is wire.
Options:
1. « Only conclusion II and III follow.

7 % Either conclusion I or IV follows.

3 % Conclusion II and either I or IV follows.

/. % Conclusion IT and III and either I or IV follows.

Question Number : 17 Question Id : 9983675617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



deFm Rrdksmragidavit e R fitr o aed F m ad g, o &
TrEatas aual @ W E, 77 #Y B Fla @ e affe §9 @ Secd HUA B HFEOT HA 2

cha:

it Wifewr eve Tow g
FT TFE T T
Tl T a9 £l
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. T T TR g
. §5 o7 ¥ T4 £
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IV.1E g9 IR 76T g

Options:

1, e fswd 1l AR I SHEEor X 8

5 x fses | a1 IV & & FIS HFEI0T T g

3 fresd 1l 3 | T IV & § SIg 3T ST gl

A x TS ILAR R AV F G FY HFET FA

Question Number : 18 Question Id : 9983675618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five boys, A, B, C, D and E, and five girls, P, Q. R, S and T, such
that there are at least three girls in the team and it meets the following criteria:

i. Qand T cannot go together.
ii. C and E must be together.
iii. A and C cannot be together.
iv. C and Q must be together.
v. P and A must be together.

Which of the following teams can be formed?

1. APQCER

2. BRSCQE

3. RSTAPB

4. SACRQE
Options:

1. %« land3

? « 2and3

3 % 3and4

4 = 1,3 and 4

Question Number : 18 Question Id : 9983675618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ofg @EHT A, B, C, D 3R E, iR wim s=f@ai P, Q R, S 3R T & & 35 0 991 ¥ O & &F I
ST & R & § #H @ #7 J9 st @ AR e Awes ¥ e an

i. Q3R T v @1y 747 & Tl
i. C 3 E v @y g =gu|
i. A 3R C we Fr 7E E 'l
iv. C 3k Q v @y @ =fgvl
v. P 3T A v @y @ =ifgul

=AH ¥ #iT T G997 T OF I TFar 87

1. APQCER
2. BRSCQE
3. RSTAPB

4. SACRQE

Options:

1_&313‘ﬁ?3
2. v 23R3
3 % 3 3T 4

4. = 1,3 374

Question Number : 19 Question Id : 9983675619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Metallurgical Engineer’ are as follow:

The candidate:
1. must have passed M.Tech. in Metallurgical Engineering with more than 80% marks.

2. must have secured more than 82% marks in the written test and more than 81% in the interview.
3. must not be less than 30 years and not more than 35 years of age as on | January 2019.

However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than more than 85% marks in M.Tech, his‘her case is to be referred to the Chief
Executive Officer.
b. no. 3, but has obtained more than 85% marks in both written test and interview., his’her case is to be referred to
the Director (Production).
Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Ashok completed M.Tech with 80.2% marks in Metallurgical Engineering. He was born on 24™ December 1991. He has
got 83% marks in both written test and interview.

Options:
1. % The candidate is to be selected.

? « The candidate is not to be selected.

3 % The candidate’s case is to be referred to the Chief Executive Officer.

4. = The candidate’s case is to be referred to Director (Production).

Question Number : 19 Question Id : 9983675619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AedaSed s & 9¢ & v 39flean Ia« & v Awes Amager &
IFHICA:

1. TH.&H AToliehel SO AT TRT 3T 38% 3% 80% ¥ 31U g =fgwl
2. TRT e & 3% 82% ¥ I g =fev AR "rTER(eE) A 81% ® 3w g =@ifgwl
3. 1 A9l 2019 G 3T 357 30 T ¥ FF 1 35 TF § HOF AT g1 Tee|

gratters, Ifg 3FAEaR 39 T Aes W AT g, [Jar

a. #. 2, Jfehe 3HF TH.IH Hedioled SATATNET H 85% ¥ HUF 3 &, ar 3T ATH qET
HTIHI AP Fr ST FATT

b. = 3, afra AT ofem i aeTcEr O # 85% ¥ 3w o ofaw fre € o swer amen
e (3caeR) Fr S=T FATCEm|

Yeod AEEr & HUR W 3K B ofr 3fafeg el Al e e, e e seEeER &
fore Swem o B

IelleR & 80.2% 3R & WY ATolialhdl SSANET H TA.ZH T 1 &1 38 on 24 fG@aw 1991 &r
3T 7| 37 fARle e 3R WeTehr(Fedy) aEl & 83% ¥ f&er §

Options:
1« SFEAICI AT STl AT

5 v 3FHICER & FgI AT ST =AMET

3w SFHIGAR & ATH H JEL FIUFRT HTFNT HT HAT AT

4. » 3IFHICAR & AHA F fAF (3c9ea) H AT e

Question Number : 20 Question Id : 9983675620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Cashier’ are as follows:

The candidate:
. must have passed M.Com in Accountancy with more than 80% marks.

1
2. must have secured at least 90% marks in the Mathematics paper in Class 12 examination.
3. must have at least two years’ experience of working as a Cashier.

However, if a candidate fulfils all the above criteria EXCEPT:

a. no. 2, but has got more than four years’ experience of working as a Cashier. his/her case is to be referred to the
Chief Manager.

b. no. 3, but is ready to sign a bond of not leaving the job for at least 2 years, his/her case is to be referred to the
General Manager.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Hrushali has M.Com with 80% marks. She has got 90% marks in Mathematics paper of Class-12 examination. She has
got two years of work experience as a Cashier.

Options:

1. % The candidate is to be selected.

? « The candidate is not to be selected.

3 x The candidate’s case is to be referred to the Chief Manager.

4. % The candidate’s case is to be referred to General Manager.

Question Number : 20 Question Id : 9983675620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FIETETET & 9 & fov 3FHEER g9 & v Ameds fFeagan €
IFHCIN:
1. THHH S@RNET 2T TeT 3 38F 3F 80% ¥ fow giv =nfzw

2. 128 e & qiem H 0T F 90% 3w g =fgu
3. TINTCUET & FTT H & T FH & Tl F1 HFsTT g =AMe0

graten, A 3FAEAR 39d Fel Aes W T ¢, f&Jam:

a. 7. 2, Afe 38F W FNRTET & T H FH FA F AR W § JF T 7GAT §, A SHHA
ATHT &I TEUF F HT ST

b. . 3, 3if%aT 3 2 TEr 9% AFY T DS FT IE T F SIX §, O STST AHAT FHET-TEYF FT
ST AT

Yecd AlEE & HUR X 3K & ofr sfafeg S g 9t e e, o B 3eEER &
fare Sger T B

AT & 80% 3Rl & Y TAFE U # g1 384 1287 F ofew F 10T F 90% 3+ gfaa Fo g
36 TH FINCTET & T H FH P # & A F A3 ¢

Options:

| 3FHEER IAT S e

5 v 3FHICAR T FET AT ST =MET|

3« IFHICAT & HIHol &I qET qaed T AT AT

A« 3FAIGEAR &% ATAC &l Hg-Feeh HI HASAT S0

Mental Ability2

Group Number : 2



Group Id : 998367218

Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 998367224
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367328
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9983675621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?

Options:

i




1t

2. .
138
3' ® AdZIN
{1
4. % KdZN

Question Number : 21 Question Id : 9983675621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST HTpiadl A & Hied AT HPHid Teod HTPid HT el Tiaas gdr g2

K45 W
Options:
Ke2ls
1. = |

i

2 P KtZIN




ks

A4ZN

i

KeZN

Question Number : 22 Question Id : 9983675622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

pgsdf54f78tvn65m

Options:

1« me9nvi8Tivetbepg

) maonvi8\ihethshd

. meonvi8\ibéibepg

4 . WednvidTiheipepg

Question Number : 22 Question Id : 9983675622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yecd WHE $T TE VT BfF T, IR e F R R TH FeaATeR gU0T I@T AT E
pqsdf54f78tvne5m




Options:

" me9nvi8\ibeibapg

méanvi8 ihctbshd

meonvi8\ibethepg

" we9nvi8Tivdipepg

Question Number : 23 Question Id : 9983675623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A) #565S@45*7%643@$SS$
(B) #56S@45%T#643@#$
(C) #565@45*7%653@#S
(D) #56S@45*7%643@#%$
(E) #56S@45*7%648@#$S
(F) #56S@45*7%643@#S$
(G) #56S@54*7%643@#$
(H) #56S@45*7%643@#S$

Options:
1. = AC and E

7 % B.CandD



R D, . Fand H

4 % CFandH

Question Number : 23 Question Id : 9983675623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A HTS TAF-HEA F g U a0 §, 397 @ A ve §A 8| Roge @A dF wog 94t

A) #56S@45+7%643@58$$
#56S@45+74643@4#S
#5653 @45+7%653@#S$

#*
=]

D) #5635 @45+7%643@#$
(E) #5653 @45+7%648@#$
(F) #56$@45+«7%643@#6%
(G) #5695 @54+-7%643@#65
H #56%$@45+«7%643@#5$

Options:

1 « A C3HRE

2 % B, C3HRD

3 « D F3RH

4 % C, F3RH

Question Number : 24 Question Id : 9983675624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the given figures, when fitted into each other would form a pentagon? Select an appropriate combination from
the given options.

QA7 0
)

E

F

Options:
1. = ABCE

? « ACDF
3. % BCEF

/. = BCDF

Question Number : 24 Question Id : 9983675624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=8 ¥ 5 3T F1 F9 v vF g F e R A € v 9T seem? Seed et # ®
TARET v T4

NIY740n
%

E

Options:
1. = ABCE
2. v ACDF

3. » BCEF



4. % BCDF

Question Number : 25 Question Id : 9983675625 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In the diagram given below, the circle stands for ‘Managers’, the triangle stands for ‘MBA degree holders’, the
rectangle stands for “Business owners’, and the square stands for ‘Income Tax pavers’. The numbers in different
segments represent the number of persons.

Which of following statement is NOT correct?
Options:
1. » A total of 85 persons are business owners.

?  The number of managers who are MBA degree holders but are not income tax payers is 2.

3 x The number of managers who are business owners and income tax payers both is 19.

/. » Managers who are MBA degree holders are 17.

Question Number : 25 Question Id : 9983675625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A Seed NG #H, Jed ‘TS H ger ¢, Bl wHdw Bl aner # gar B, amaa ‘caeartiar
P TATAT & HIT T HTTHT STATHT BT GATAT &1 HAT-3HAT TS T &7 TS HEATY ATFIAT T FEAT
g

" e

a2

ol N\

T75% ¢
/) v

28

sad ¥ ST AT FUT FE AT E?

Options:

1« 3 85 =UFT FEK F HAlferF 2l

2, UHET $ = arer gguw ' 2 g, S AR g 79 2
3. » UH g H FEAT 19 §, S FRER & Alfers AR 3T ST gt 8

A« THEC $ e arer gguw g 17 g

Question Number : 26 Question Id : 9983675626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

£

Figure-X

Options:



Question Number : 26 Question Id : 9983675626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH ¥ 9 HPa I [HEH AP X SHFT T 87T ¢

£

Figure- X

Options:



Question Number : 27 Question Id : 9983675627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figure will complete the pattern in the figure given below?

Options:

1. ¢




Question Number : 27 Question Id : 9983675627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SN U Fied G HHid A< eeod epid Heed ol T HLE?

Options:

1. ¢

Question Number : 28 Question Id : 9983675628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Darshi is Madhavi’s sister’s daughter. Anvesha is mother of Yukta. Vaidehi is daughter of Karan. Karan is Madhavi’s
only sister’s husband. Ranvijay’s daughter is married to Karan. Anvesha is Vaidehi’s maternal grandmother. Madhavi is
unmarried. How is Darshi related to Ranvijay?

Options:
1. » Daughter

? % Sister

3. ® Niece

4. « Granddaughter

Question Number : 28 Question Id : 9983675628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g2t Fmey & wg Fr wsdr T AT FAT Fr A g1 IGET FIOT T AT g1 FOT AR FH FHaAtar
aa?rarqﬁ-‘r%|wﬁwﬁaﬁﬁ&nﬁrmﬂg@%lméﬁr#m%;m%aﬁraﬁﬁ
¥ zoff 3 ToieT # Rear var

Options:

1. = @@

72w Hgd

Question Number : 29 Question Id : 9983675629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A + B means “A is brother of B’

A — B means A is mother of B®

A * B means “A is father of B’

A+ B means ‘A isson of B’

A % B means A is sister of B’

HfU+V-K-R+T+U xS %K, then which of the following statement is NOT correct?
Options:

1. = V is mother-in-law of U.

? % Sissisterof T.

3 & Kishusband of U.

4. % Vis maternal grandmother of S.

Question Number : 29 Question Id : 9983675629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A+BFm HATE A B as &
A-BF 3T & A BFramar g
AxBaTHTg A B Rarg
A+BaT 3y g ‘A BFraeryg
A%BaRATETA B TEaE

T U+V-K-R+T=UxS %KE¢g a sad8 ¥ &id § FIa Hal 7ar 27

Options:

1« V,U#H ww gl

2. % S T#H a5 gl



3 v K U a3 gl

4. % V, S & AETE

Question Number : 30 Question Id : 9983675630 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A question is given, followed by two statements labelled I and II, each containing some information. Decide which of
the statements is/are sufficient/necessary to answer the question.

Question:
How is P related to Q?

Statements
I. R isson of P who is married to T.
IT. V is married to P.
II. S issister of Q.

IV. R is the father of S
Options:
1. % Statement I and II together are sufficient.

2w Statement L, II and III together are sufficient.

73 Statement I, IIT and IV together are sufficient.

4. » Allthe statements together are necessary.

Question Number : 30 Question Id : 9983675630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T 9 & a1 | 3N 1| 3Eer % dgd & A U ¢ §, 99 F 3T 7 $o AFHN & T F a9 FY
& 99 T 3cdT & F T =98 ¥ FiF T/ FUaT TAa/FTH 1l 2E|

LECE

P, Q ¥ ¥ gag g7

. RPHmg PEhad TEE
Il V& e P & S R

. S, Q & 2 g

IV. R, S & far gl

Options:

1w U= | 3R | THEy I gl

2w HUF |, 1 AT NI THETT SO g

3. v ®ua |, 1l AR IV vHary g3 g

4.« T FUT THATT T Bl

Question Number : 31 Question Id : 9983675631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘TRACTOR’ is coded as 117 in a code language, how would ‘MEDICAL’ be coded in the same code language?
Options:

1. = 95

2, v 98



3. % 100

A = 102

Question Number : 31 Question Id : 9983675631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁwmwﬁ‘THACTOR’ﬁH?ﬁEWWE}HTB@'E—ﬂEﬂTETﬁ‘MEDICAL’ﬁﬂTHﬂE
T Jmeer?

Options:
1. = 95
2. v 98
3. % 100
4. % 102

Question Number : 32 Question Id : 9983675632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

A= 18+64—-418+26 =521
Options:
1. = 418 and 64, = and +

? % 26and 18, +and+

3 x 26and 38, +and-



4. « 26and38, +and+

Question Number : 32 Question Id : 9983675632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEmH AR R & 57 oA d § FF @ A 39 DY 3w # eem W OF e Ao
HHRIOT I Hegr H gl heam?

38 x 18 + 64 - 418 + 26 = 521
Options:

1. » 418 3T 64, x 3R +

D« 26 AT 18 + 3R +

3. = 26 3R 38, + 3K -

4. v 26 AT 38, + 3R +

Question Number : 33 Question Id : 9983675633 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A total of 160 students participate in one of three events solo song, solo dance and mime. Only 10% participate in all
three events. The number of students who participate in any two and only two events is 35% of the total students. The
number of students who participate in solo song alone is 26. What is the total number of students who participate in solo
dance alone or mime alone?

Options:

1. & 52

? % 60

3 v 62



4 = 72

Question Number : 33 Question Id : 9983675633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|t H@iE, Wt s AR ASA 97 FEAT 7 Fo 160 o e & | g1 FEa 10% & wi A
#oomr o 7 31 Ty @ dsAr a1 Al @ FAEAT F AT o arel ST FY WEAT Fol SEr H 35%
T1 Faer BT TR F AT O TTor TIEr Fr THEAT 26 £ Fa Hiell M@ A FaA ASH H AT o AT
FoT BIET I HEAT T L2

Options:

1. = 52
72 = 60
3. v 62
4 = 72

Question Number : 34 Question Id : 9983675634 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Among five objects A, B, C, D and E: A is one and a half times heavier than C; B is two and a half times heavier than
E: C is one and a half times heavier than D. E is twice as heavy as A. Which of the following the statements is NOT
correct?

Options:

1. # B is heavier than D.

? % E is heavier than C.

3 % Bisheavier than A.



4.« A is three times heavier than D.

Question Number : 34 Question Id : 9983675634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 FFG3T A, B, C, DAREA WA CU S I 0 §; B, EW A5 I@1 a7 §; C, D & 8¢ 7w
S E1E, A ¥ ST o §1 S5 § FioT BT HUA Hel A4l 87

Options:

1 « B, D ¥ &l

2 % E C¥ &g

3 % B AT e

4_$A,Dﬁé’lﬂﬂmmﬁ‘l

Question Number : 35 Question Id : 9983675635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. A says to B, ‘If I give you 8 rupees, I will have
four rupees more than C* B says to C, ‘If you give me 7 rupees. I will have equal amount of rupees as D’. C says to A,
‘If you give me 13 rupees, I will have 8 mipees less than B’. If B and C together have total 75 rupees, how many rupees
does A have?

Options:

1. = 38
2. v 39
3. % 40



Question Number : 35 Question Id : 9983675635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR =AFEEt A, B, C 3R D & 910 HT-7T T g1 A, B W FET ¢, IR gH AH 8 T T a1, A
AL UE C ¥ IR 94 F41GT 311" B, C W Fgal ¢, ‘¥R gA HH 7 94 ¢ &, af ;X 98 D G
T BT SN C, A H FEA &, W IH A 13 TOF @, S A T B ¥ 8 w9 FH g G B
AR C = & 98 F& 75 T &, @ A & 9F foas w9 §?

Options:

1. = 38
2. v 38
3 = 40
4 = 42

Question Number : 36 Question Id : 9983675636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. # Annihilation

? % Decimation

3 Refurbishment

/. % Destruction

Question Number : 36 Question Id : 9983675636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Yecd 9N WSl H ¥ JF T Ak ¥ FAG §, FaTh U T g1 S ¥ WA g4

Options:

1. » WX

Question Number : 37 Question Id : 9983675637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

Options:

1. % 1

I

2. %

3.% 3

4 v 4

Question Number : 37 Question Id : 9983675637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Yerd IR IFAA H ¥ dF TF % § TAS ¢, Faie TH 70T gl 304 ¥ v I

Options:

1% 1

Question Number : 38 Question Id : 9983675638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

4.6,12.15,7.49

Options:

1. = 25
? % 30
3 % 35



Question Number : 38 Question Id : 9983675638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ T I S g@er 7 woF foeg (7) #F WEr yioeia T

4, 6, 12, 15, 7, 49

Options:

1. = 25
2 = 30
3 = 35
4., v 45

Question Number : 39 Question Id : 9983675639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which number will replace the question mark (?) in the following series?

31, 35,46, 76,7
Options:
1. = 141

2. v 143

3. % 145

A4 = 147

Question Number : 39 Question Id : 9983675639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tg faweT g9 S g@er & yeA Reg (2) 1 @ gfarnfa sem

31, 35, 46, 76, ?

Options:

1 = 141
2. v 143
3. % 145
4. = 147

Question Number : 40 Question Id : 9983675640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

105,133, 177,236,309 2

Options:
1. « 395

3. % 495

Question Number : 40 Question Id : 9983675640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tg faweT g9 S g@er # yoF RBew (?) w6 yaritg SEm

105, 133, 177, 236, 309, ?

Options:

1. ¢ 385

2 % 405

3 % 495

A, = 505

General Awareness1

Group Number : 3

Group Id : 998367219

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl

Section Id : 998367225
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 998367329
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983675641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Darr ke Aage Jeet Hal” is the tag line of which of the
following soft drinks?

Options:

1. = Thums Up

2. v Mountain Dew
3. = Coca Cola

4. = Pepsl

Question Number : 41 Question Id : 9983675641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"5t F e ST B orfafEa & @ g wres R &1 &
CIEG I

Options:

1. = 98 39

2. v A3 3
3. % ThIhlI Flal
4, = OHT

Question Number : 42 Question Id : 9983675642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

International Dance Day, to promote art and culture, is
celebrated on which date?

Options:

1. v 29 April
2. = 5 Apri



3. % 10 Aprll
4. = 15 April

Question Number : 42 Question Id : 9983675642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el 3T FERIA T F@am 3o & fAT AU e fea,
s @ T dRIE T JR—T ST &7

Options:

1. v 29-318ar
2. % 5-378e
3. = 10-378a
4. % 15-37

Question Number : 43 Question Id : 9983675643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S class Series is associated with which brand of car?

Options:

1. = Audi

2. = Rolls Royce

3. v Mercedes-Benz
4. » BMW

Question Number : 43 Question Id : 9983675643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S Folg RIS, rafel@Ea g 1 & &5 & &g &7

Options:
1. = 3Er
2. = Ued TIH

. v AT &

[

* gINHSse<]

=~ W



Question Number : 44 Question Id : 9983675644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the name of the cyclone that hit Tamil Nadu in
December 20167

Options:

1. = Fani

2. » Nilam
3. = Ockhi
4. v Vardah

Question Number : 44 Question Id : 9983675644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fegey 2016 A dmmmg H 3T Tshdld T AT TH AT?

Options:

1. = Wlar
2. % olelH
3. = 304
4. v gdT

Question Number : 45 Question Id : 9983675645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three Indians made it to the 2019 Time 100 most influential
people list. Who among the following is NOT one of them?

Options:

1. = Arundhati Katju
2. v Anand Mahindra
3. » Menaka Guruswamy
4. = Mukesh Ambani

Question Number : 45 Question Id : 9983675645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



¥ 2019 # d1 9IRAT & 22H 100 & @& THTGeIell el
T T # a1 S91g sellg &1 Ffaiad & a wia safead
SoT dlell o 3derd oIal 37T &7

Options:

1. » 37%Udl FlEs]
2. v 3Tdg Hfgal
3. » AThT IEEATAT
4. = FRA 3T

Question Number : 46 Question Id : 9983675646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The central government has mandated the state transport
departments to use which colour plate for all electric vehicles?

Options:

1. v Green
2. » Red

3. = Black
4. = White

Question Number : 46 Question Id : 9983675646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hg GIRN o Tod UNTa TTHTN l T Solldce aTgal o
ToIT Torg T T Told T 3UANET el & TolT TATIT STRT ThaT

g7

Options:

1. v &0
2. % ollel

3. * Shlell



4. = Hhe

Question Number : 47 Question Id : 9983675647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Virtual Assistant Alexa is a product of which of the following
companies?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. Apple

2. Google
3. Amazon
4. Bixby

Question Number : 47 Question Id : 9983675647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & & ffE @ #2019 AFTAT ToI1d F TROTHA
Mg forT aw 2972

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Uoqel
2. [T
3. A
4. ToFasT

Question Number : 48 Question Id : 9983675648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On which of the following dates were the results of the 2019
Lok Sabha Elections declared?

Options:

1. = 20 May 2019
2. v 23 May 2019




3. *= 30 May 2019
4. % 25 May 2019

Question Number : 48 Question Id : 9983675648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d & @ ford iz #2019 REeT Iad & TROTH
NN fopT 7w 2972

Options:

1. = 20-A%-2019
2. v 23-F-2019
3. = 30-F5-2019
4. = 25-F5-2019

Question Number : 49 Question Id : 9983675649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By which act the trade monopoly of the East India Company
in India was ended and trade with India was thrown open to
all British subjects?

Options:

1. v The Charter Act of 1813.

2. » The Regulating Act of 1773.

3. = The Pitts India Act of 1784.

4. = The Government of India Act of 1858.

Question Number : 49 Question Id : 9983675649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ford TATATH & TaRT ARG H SEC ST8AT Ul o ATIR
TRTTERIT shl TATCT hY TeaT aT 3w 9T & drer gt fafeer
Ayt 8 ¥T99 9UR & @ @ ] ae?

Options:

1. v 1813 T AT ATATETH




2. = 1773 T Bieagae fafeaas
3. = 1784 &T My fear sfafawa
4. = 1858 T RT ILHR fAfaTH

Question Number : 50 Question Id : 9983675650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous song, “Aye Mere Watan Ke Logon”, was sung by
Lata Mangeshkar as a tribute to soldiers who died during:

Options:

1. = Kargil War of 1999.

2. » Indo-Pakistan war of 1965.
3. v Sino-Indian War of 1962.
4. = Indo-Pakistan war of 1971.

Question Number : 50 Question Id : 9983675650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & & T8 Ig & g AN e arel el & v
ofdT HIIRMRT GaNT UIEE 901, "U AL ddel o ool agr Ir:m
aT?

Options:

1. = 1999%?@?2@{

2. = 1965 T ARI-UTREdTA T8

3. v 1962 hT ART-IUT TG

4. = 1971 T ART-UTTREATA T8

Question Number : 51 Question Id : 9983675651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is the author of the book, “The
Story of My Deportation™?

Options:



1. v Lala Lajpat Ral

2. = Subhash Chandra Bose

3. = Vinayak Damodar Savarkar
4. = Batukeshwar Dutt

Question Number : 51 Question Id : 9983675651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qEdsh "g TERT 36 A SUEera" & @ 58 & Fld §7
Options:

1. v Wl dla9d I

2.wg“a¢rsriiaa’r\=r

3. = T8I STAGT HIE{H

4. = ﬂ%gh?d*{ acd

Question Number : 52 Question Id : 9983675652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the accomplice of Bhagat Singh who, along with him,
threw bombs at the Central Legislative Assembly at Delhi on 8
April, 1929.

Options:

1. = Rajguru

2. v Batukeshwar Dutt

3. = Sukhdev

4. » Chandrashekar Azad

Question Number : 52 Question Id : 9983675652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafoaa & & g R & 39 arefl &1 731 a7 § Seghe
3aloh @TT 8 37U 1929 & REeall A shard Ut O9T # 58
hehT 20T?

Options:




1. « THETE

2. v q_g,é‘hm{ Zcd]

3. = g@Eg

e

4, » TERAEIT TS

Question Number : 53 Question Id : 9983675653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the NEET exam held the first time in
India?

Options:

1. = 2012
2. % 2010
3.v 2013
4. = 2009

Question Number : 53 Question Id : 9983675653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NEET oi1&T $TRd #H Ugell X fFT ¥ Ao &l 15 o7

Options:
1. = 2012
2. » 2010
3. v 2013
4. = 2009

Question Number : 54 Question Id : 9983675654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the general lock-in period of Public Provident Fund
(PPF) in India, except for some pre-mature withdrawal rules?

Options:

1. = 5 Years



2. v 15 years
3. = 10 years
4. = 20 Years

Question Number : 54 Question Id : 9983675654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FS g IRTFT AT HTAT T SISH, IR H Fasiieleh
"o At (driow) Fr amAeT dre-sa 3@ forder §7

Options:

1. = 5 gm
2. v 15 gt
3. % 10 @9l
4. % 20 &

Question Number : 55 Question Id : 9983675655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As of May 2019, who among the following is the Chief
Executive Officer (CEO) of Unique Identification Authority of
India UIDAI?

Options:

1. ¥ Ajay Bhushan Pandey

2. » Anand Deshpande
3. ® ] Satyanarayana
4. * Nandan Nilekani

Question Number : 55 Question Id : 9983675655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A3 2019 T, UIDAI =T faferse ggeme wifaeor & #eg
FRIFRT JATUFRT (CEQ) ToeaTali@d # & i &7

Options:

1. v 37T #N0T 9IS




2. = 3Telc Q9IS
3. * of GcddRIU]

4. % ST ATolhUIT

Question Number : 56 Question Id : 9983675656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Sexual Harassment of Women at Workplace (Prevention,
Prohibition and Redressal) Act was passed in which year?

Options:

1.~ 2013
2. % 2010
3. = 2015
4. = 2016

Question Number : 56 Question Id : 9983675656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FRITAST T ATRATIHT T TieT 3cuisd (QepardH, vy 3T
faron) rfafeas g a¥ aiia foraT arar am

Options:

1. v 2013
2. = 2010
3. = 2015
4. = 2016

Question Number : 57 Question Id : 9983675657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 45 and Article 21A of Indian Constitution are related
to which of the following?

Options:

1. » Sexual abuse



2. » Election
3. v Education
4. = Appointment of President

Question Number : 57 Question Id : 9983675657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRATT TG FT fefeae 45 3R 3eoe 21A fawfafzd
g fora & Tafaa g7

Options:

1. = el eNwoT

2. = galld

3. v e
4.%%@%@%

Question Number : 58 Question Id : 9983675658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following committees examined and
suggested financial sector reforms in India?

Options:

1. = Chelliah Committee
2. » Bhagawati Committee

3. v Narasimham Committee
4. = Abid Hussain Committee

Question Number : 58 Question Id : 9983675658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d # @ T vk GfAfd & 9 & facdT &7 gur
s S T AT gea E=r?

Options:

1. % edT GMATT



2. % $ATadT TTATT
3. v W™ gfafa
4. = 3o gl FAT

Question Number : 59 Question Id : 9983675659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did Ramesh Krishnan win the wWimbledon
junior title?

Options:

1. = 1982
2. % 1978
3.+ 1979
4. = 1980

Question Number : 59 Question Id : 9983675659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR FoUTe of Tdeorsel Sy e fohd Ty Sirar or?

Options:

1. = 1982
2. = 1978
3. v 1979
4. = 1980

Question Number : 60 Question Id : 9983675660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sports Day in India is celebrated on the birthday of one of the
legendary Indian sportspersons. wWho is this legendary
sportsperson?

Options:

1. * Milkha Singh



2. » Sunil Gavaskar
3. = PTUsha
4. v Dhyan Chand

Question Number : 60 Question Id : 9983675660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H T tgq, ¥IRd & U AT W8l & SeAlcd &
HTEL W AGRIT AT &1 39 &a9rer REamar &1 A1 41 §7

Options:

1. = e A8

2. % gd“loi TR
3. = °T & 39T
4

v g
General Awareness2
Group Number : 4
Group Id: 998367220
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awareness?2
Section Id : 998367226
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 998367330
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983675661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the recipient of the New Zealand Prime Minister’s Sir
Edmund Hillary Fellowship for 2019?

Options:

1. = Mariyappan Thangavelu
2. v Deepa Malik

3. » Devendra Jhajharia

4. = Varun Singh Bhati

Question Number : 61 Question Id : 9983675661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 2019 & AV, 34 & fFd ~Siels & TUTAAT T USHS
%ﬂﬁﬂ%ﬁﬁﬁwmgm%?

Options:

1. = ARTTUE oemdd
2. v &ar Afelk

3. » gdg SATSIRAT
4. » THUT T8E AT

Question Number : 62 Question Id : 9983675662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Budhaditya Mukherjee, who was awarded the Padma
Bhushan in 2019, is assoclated with which of the following
musical instruments?

Options:

1. v Sitar



2. = Veena
3. = Violin
4. = Tabla

Question Number : 62 Question Id : 9983675662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

genfecd AEel, foed 2019 & usT o§oT & FrATfad foham aram

off, 98 ToFdafell@d & & foed arggdy @ gaarad 87

1. v RO
2. = dlal

3. = grfelel
4. = dslell

Question Number : 63 Question Id : 9983675663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Tamil historic novel, Ponniyin Selvan, is based on the
story of which of the following rulers?

Options:

1. = Rajendra Chola 1
2. = ViKramaditya

3. v Raja Raja Chola
4, = Jayasimha

Question Number : 63 Question Id : 9983675663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfaer efaEis 3y, NifcaRs aoge, AT 7 @ g
TR <hl h@lail U TR &7

Options:

1. % Tolg el TTH




2. » QAT

3. v TIT ISIT Ao

4. » SFITHFE]

Question Number : 64 Question Id : 9983675664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bihu festival is celebrated in which Indian state?

Options:

1. v Assam

2. » West Bengal
3. = Odisha

4. = Bihar

Question Number : 64 Question Id : 9983675664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ﬁﬁ?ﬂ’lﬁ?ﬁlﬁﬁ@?—f H O T 9RO T8 & #dR—T S0
&7

Options:

1. v 39H
2. % UTeTH SMel
3. = 37fgerm
4. = o8

Question Number : 65 Question Id : 9983675665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following rivers originates from Sihawa in
Raipur district of Chhattisgarh and runs through Madhya
Pradesh and Odisha?

Options:

1. = Godavari



2. v Mahanadi
3. = Sarayu
4, = Kosi

Question Number : 65 Question Id : 9983675665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d A @ Flad @ 7 Scddee & T oot A7 @gmar
A forsherdt & 3T Ao uder 3T 3ifser @ grne dodr &7

Options:

1. % INETERT
2. v HEear

3.« §Y
4, = FrET

Question Number : 66 Question Id : 9983675666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The world’s largest monazite deposits are found in two
districts of Kerala. One of the districts is Kollam. Which is the
other?

Options:

1. » Wayanad
2. = Iduki

3. v Palakkad
4, = Kannur

Question Number : 66 Question Id : 9983675666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfelT T TH 3T AlASASE FUST Kol & 2l Tolell H T
ST &1 Sof Qlell Tolell # @ Ueh hicold folell &, gEY Tolel T

STH T &7

Options:




. * FZFhRI

B~ W N =
<

. % chadl

o,

Question Number : 67 Question Id : 9983675667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following are known as the monsoon
forests?

Options:

1. = Tropical evergreen forests.
2. v Tropical deciduous forests.
3. = Tropical thorn forests.

4. = Littoral forests.

Question Number : 67 Question Id : 9983675667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa # @ {68 AR I & §7 H S Sar 87

Options:

1. % 3SUThICTUIT GeEaN dd
2. v 3SUThieTe T quiarar gef
3. = 30T Sieagd T Fdrel dol

4. » RIcdIER de

Question Number : 68 Question Id : 9983675668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Progressive Achievement of Self-Reliance” was the objective
of which Five Year Plan?

Options:

1. v Fourth



2.  Sixth
3. = Eleventh
4, = Third

Question Number : 68 Question Id : 9983675668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao A & g ToasiaT ISar T 322 " HATcH-TadTdn
T varTaeier 3uaisy” oar?

Options:

1. v Tiar

2.
3. = IYGNEAr
4.

Question Number : 69 Question Id : 9983675669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the name changing took place from
Confederation of Engineering Industry (CEI) to Confederation
of Indian Industry (CII)?

Options:

1. = 1970
2. v 1992
3. % 1995
4. = 1980

Question Number : 69 Question Id : 9983675669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forFafolf@d & & Topd ay¥, Sollfagier 3edier gad (CEl) &1
ATH Sgelehd ARG 3edrer gieae (Cll) g r=m ar?

Options:




1. = 1970
2. v 1992
3. = 1995
4. = 1980

Question Number : 70 Question Id : 9983675670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a part of the human
development index?

Options:

1. v Happiness
2. = Longevity
3. = Education
4. = Standard of living

Question Number : 70 Question Id : 9983675670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaf@d # & *ia Alg e gaeis H1 gedr 7@ g7

Options:

1.&??%‘%?]’
2. % EIE Sirger
3. = fare

4. = Sdel TAT

Question Number : 71 Question Id : 9983675671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Sodium benzoate can be used as:

Options:

1. = Baking powder
2. v Food preservative



3. = Bleaching powder
4. = Chalk

Question Number : 71 Question Id : 9983675671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AETH dve T 3T FeToEdad # @ g 7 7 har o
HehdT &7

Options:

1. » SfepdT UI3sT

2. v T URIE (BS Ysidied)
3. » Selll<dr 1387

4. = TR

Question Number : 72 Question Id : 9983675672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is used as a moth ball?

Options:

1. v Paradichlorobenzene
2. = Sodium sulphate

3. = Sodium bicarbonate
4. = Calcium carbonate

Question Number : 72 Question Id : 9983675672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mrafel@ad # O 8 T AT del o T H 3T mar S1ar
&7

Options:

1. v REFARETolal
2. = OISTH Tethe
3. = TIf3TH SEhEfec




4. % SHTRTTH FEldAC

Question Number : 73 Question Id : 9983675673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the physics concept behind a ball point pen?

Options:

1. v Gravity and surface tension
2. = Centrifugal force

3. * Thermodynamics

4. = Principle of optics

Question Number : 73 Question Id : 9983675673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

deT Uise el 3a8 O fhg #ifas 3guRoT 9T F1H «&ar g7

Options:

1. v F&cAThYTT 3R 55 Tell
2. % 3TAheerd Tl

3. * ZCHTEICRT

4. = JRITLRT AT [EETd

Question Number : 74 Question Id : 9983675674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The high-speed magnetic levitation (Maglev) trains are based
on which technology?

Options:

1. = Optic fibre
2. v Super conductivity

3. # Internet of Things
4. = Cloud computing

Question Number : 74 Question Id : 9983675674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3T AT T GEhT Seclelel (HIold) ol fArtfai@a 7 ¥ fra
deheileh I ITATRA &7

Options:

1. = 3t BT
2.%@?@%‘%@'
3. * Taddde 3 f9yg
4. = FABS HCA

Question Number : 75 Question Id : 9983675675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following discovered and patented the
rotating magnetic field, the basis of most alternating-current
machinery?

Options:

1. v Nikola Tesla

2. » Thomas Edison

3. = Albert Einstein

4. = Ernest Rutherford

Question Number : 75 Question Id : 9983675675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d A & Tohael gAe Tl Jqahig &1T T IdT =]

T vcaradl URT (3TecIafedT hie) AN T IR TATAT?

Options:

1. v TolehlalT aEalT
2. = AFAE UisHeT
3. % 3Tedc 3BTare
4. = 3ol TEIHIE




Question Number : 76 Question Id : 9983675676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state is the Institute of Nano Science and Technology
situated?

Options:

1. = Gujarat

2. v Punjab

3. = Karnataka

4. » Andhra Pradesh

Question Number : 76 Question Id : 9983675676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aar fTaare 3T dledfEehr avare sad & foha Toa & ua g7

Options:

1. = 0T
2. v U
3. % halceh
4, % 3T vSeT

Question Number : 77 Question Id : 9983675677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Indian Council of Medical Research (ICMR) has launched
the 'Malaria Elimination Research Alliance (MERA) India’ to
eliminate malaria by which year?

Options:

1. = 2020
2. % 2025
3. v 2030
4. = 2035

Question Number : 77 Question Id : 9983675677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AR Fafhcar se@are 9Rwe (ICMR) &t 78 a¥ #elEr &
TcH Fa & oIV 'HARTT Serele 3aaure eaes (MERA)
AT & forar &7

Options:

1. = 2020
2. = 2025
3. v 2030
4. = 2035

Question Number : 78 Question Id : 9983675678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One of the most premier institutes of India, the National
Institute of Design, is located in which city?

Options:

1. » New Delhi
2. v Ahmedabad
3. » Mumbal

4. = Pune

Question Number : 78 Question Id : 9983675678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & T THE A=A H & Ueh, aeeTel SEEICYT 3
feomsa, MeafeEa & @ ffE ey & g &7

Options:

1. = @8 fee

2. v 3aHGEG

3.%:@?%1?
4.%@




Question Number : 79 Question Id : 9983675679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Tata Institute of Fundamental Research started
functioning in which city when it was founded?

Options:

1. * Pune

2. = Mumbal

3. v Bangalore (Bengaluru)
4. » New Delhl

Question Number : 79 Question Id : 9983675679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

méﬁ@;%d@ﬁwmﬁwﬁm%mﬁ?
2jT?

Options:

3.J§?1T»I’IT(3?1T3I§)
4. » @5 feee

Question Number : 80 Question Id : 9983675680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The headquarter of Universal Postal Union (UPU) is situated
in:

Options:

1. = California, USA

2. = Tokyo, Japan

3. v Bern, Switzerland
4. = Berlin, Germany

Question Number : 80 Question Id : 9983675680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



gfetader dreeel Jferdel (UPU) s F&dmerd feifeoiad # @
forg T W Fud §7

Options:

1. = HihIferar, TFd ToT JARHT
2. % 2rFr, ST

3. v ¥a, Facalols

4

. ® feld, STHaT

Arithmetic Ability1
Group Number : 5
Group Id : 998367221
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 998367227
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367331
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983675681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Simplify the following:

20—\/20—J20— 20 —+20...

Options:

1. = —5

3.v 4

4, = V20

Question Number : 81 Question Id : 9983675681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT THEoT ST TR0 ST

20 — 20—\/20— 20 —+/20...

Options:

1. = =5



Question Number : 82 Question Id : 9983675682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify the following:

1+———
1%

1+

Options:
1. = -2

[~

2.

3.8 3

4 % 6

Question Number : 82 Question Id : 9983675682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST g oT F7 0T HiAT:

1+——e—
1+

1+

Options:

1. % -2



Question Number : 83 Question Id : 9983675683 Question Type
Correct Marks: 1 Wrong Marks: 0.25

Simplify the following:

Options:

1. = 10

21

Question Number : 83 Question Id : 9983675683 Question Type
Correct Marks: 1 Wrong Marks: 0.25

: MCQ Option Shuffling: Yes

: MCQ Option Shuffling: Yes



ST THEIoT 7 FTEeUT HITAT;

y i: Fh 1 1
(LHL)( '1+L)‘(1 1+L)(1 1+L)
10 10 10 10

Options:
1
1. = 10
21
2 = 11
3 % 11
20
4, v 11

Question Number : 84 Question Id : 9983675684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify the following:

1 1 5 1 e g 5 .y 1
'-.-@ + '-.n"ﬁ -.,."§+ -.,‘."? -.,."?+ '-.n"E '-.-"E+5 -.,:"§+ -.jE

Options:
1.+« 1



4 % 5

Question Number : 84 Question Id : 9983675684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST gaEoT F7 0T SiAT;

1 1 1 1 1
- + + +
V9+V8 V8++7 V7+v6 V6+5 V5444
Options:
1. v 1
2 = 2

Question Number : 85 Question Id : 9983675685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

(0.02)2+(0.22)2+(0.025)2
(0.002)2+(0.022)2+(0.0025)%

Options:
1.+~ 10

7 % 100



3. % 1000

4. = 10,000

Question Number : 85 Question Id : 9983675685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HedTehe Y

(0.02)% + (0.22)2 4 (0.025)2
(0.002)? + (0.022)2 + (0.0025)2

Options:

1. v 10

2 % 100

3. = 1000
4« 10,000

Question Number : 86 Question Id : 9983675686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If /9765625 = 3125, then1/9765625 + v/97656.25 +1/976.5625 + /9.765625 is:
Options:
1. % 3125.275

7 % 3741.875



3. & 3471.875

A = 3215275

Question Number : 86 Question Id : 9983675686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg /9765625 = 3125 &, ar 1/9765625 +1/97656.25 + 1/976.5625 +1/9.765625 ZI=T:

Options:

1. %« 3125275
2 % 3741875
3. v 3471875

4. = 3215275

Question Number : 87 Question Id : 9983675687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1
11.25X 11.25x11.25+1)5

11.25x11.25—11.25+1

Evaluate: (

Options:

1. = 2.5
2. 35

3 % 45



L
Ln

4 =

Question Number : 87 Question Id : 9983675687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1

. . 11.25%11.25%11.25+1%2
HeOThd Fi:
~ s By B L5 By B L Ei = 1 |

Options:

1. = 25
? « 35
3 = 45
4 = bb

Question Number : 88 Question Id : 9983675688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

97 1
Let Fr ? g s where X,y and z are positive integers. Then the product xyz is:
Z
Options:
1. = 16
2. v 90
3 % 95

A % 105



Question Number : 88 Question Id : 9983675688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AMFC 7 _ L SE xy ATz OACHS QUi g1 ar xyz F IUA g
19 vi:

Options:

1. = 16

2. v 90

3. % 95

4. % 105

Question Number : 89 Question Id : 9983675689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify the following:

(-7 (-7 (- -(-2) ]

Options:
1
1. = 100

99
7 % 100

3.« 100



1
4 = 50

Question Number : 89 Question Id : 9983675689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST g&EoT F1 0T HiAT;

e W

Options:
1
1. = 100
99
2 w100
3. « 100
1
4. = 50

Question Number : 90 Question Id : 9983675690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

1 i 1 1 1 1
N e el g
20 30 42 5é 72 90
Options:

1

1. = 10



4. v 20

Question Number : 90 Question Id : 9983675690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.1 .1 .14 1.1

30 30 A2 ' 56 72 ' 90

Options:
1
1. = 10
4
2 = 45
2
3 = 35
3
4. v 20

Question Number : 91 Question Id : 9983675691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a city, three consecutive traffic lights change after 32, 48 and 76 seconds respectively. If the lights are first

switched on at 7.00 AM sharp, then the time they will change simultaneously is:



Options:
1. » 7:30:04 AM

? w 7:30:24 AM
3. % 7:30:34 AM

4w 7:30:44 AM

Question Number : 91 Question Id : 9983675691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF ET H, I TGN T T Efthe AEE UF F TG U HAM: 32, 48 T 76 TFE I FSAdr 2
IfE gl AE F &F IR 7 T 91l H E; ST A IW FHT HY A0 HiSC T T 7l v [y
ECEIR

Options:

1. = 7:30:04 AM
7« 7:30:24 AM
3w 7:30:34 AM

4. = 7:30:44 AM

Question Number : 92 Question Id : 9983675692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The LCM of two numbers is 14 times their HCF. The sum of HCF and LCM is 345. If one number is 46, find the other
nmumber.

Options:
1. = 92



7 % 115

3 % 138

A « 161

Question Number : 92 Question Id : 9983675692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& HEAT3T F TAYeaH FAIAY 3% Fgcad FATEed § 14 7 3% g1 Agean FAMES dR
ScaH FAMEcH & AT 345 F| I TH HEAT 46 g, A gEd HEAT A1 ST

Options:

1. = 92

2. % 115
3. = 138
4. v 161

Question Number : 93 Question Id : 9983675693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of two numbers is 270 and their HCF is 18. How many pairs of such numbers can be formed?

Options:

1. = 2

2.v 4



Question Number : 93 Question Id : 9983675693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FEATHT F AT 270 & HIT 3T AgcaH® AT 18 g1 UHr gt & Faw ST 9910 ST A 22

Options:

Question Number : 94 Question Id : 9983675694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A mixture contains petrol and ethanol in the ratio 4 : 3. If 5 litre of ethanol is added to the mixture, the ratio becomes 4 :
5. The quantity of petrol in the given mixture is:

Options:
1. « 10 litre

? % 13 litre

3w 20 litre



A = 25 litre

Question Number : 94 Question Id : 9983675694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fadir fosor F O 3T vt FY 4 : 3 F g & Femar g1 af sw fAwer 7 5 der v
3R f&er Rz S & 7% I 4 0 5 @ S €1 Ru aw fFavr # S9gie A e

Options:

1. v 10 &
2 % 15 @reX
3w 20 #ex
4. % 25 ¥

Question Number : 95 Question Id : 9983675695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of three numbers is 3 : 4 : 5 and the sum of their squares is 1250. The sum of the numbers is:
Options:
1. = 30

h
o

2. %

3 & 60

Question Number : 95 Question Id : 9983675695 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
e TEAT3T FT WA 3 ¢ 4 5 § AR 3% FEA FT TRT 1250 g1 $F FEATHT H AT F:

Options:

1. = 30
2 = b0
3. v 60
4. = 90

Question Number : 96 Question Id : 9983675696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Suppose that X invested 10% more than Y and Y invested 10% less than Z. If the total sum of investments of X and
Y is Rs. 14450, then the actual investment of Y is:
Options:

1. % Rs. 4000

? % Rs. 44350

3« Rs. 4500

4. = Rs. 5000

Question Number : 96 Question Id : 9983675696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A AT B X 7Y g 7 10% 38 A Y F Z F gaar F 10% FA FEy FEn af X ek
Y St o Aot T9F 14450 &1 F9er fFar § ar Y & I=afas A9 $r e fifew

Options:



1. « F9F 4000

2w T 4450

3. v T 4500

o,

4. % TII 5000

Question Number : 97 Question Id : 9983675697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A Mathematics test had 75 problems, with 10 problems on number sense, 30 problems on algebra, and 35 problems on

geometry. A person X answered 70% of number sense, 40% of algebra and 60% of geometry problems correctly.
However, X didn’t pass the test because his score was less than 60% of the right problems. How many more problems

he would have need to answer correctly to obtain 60% passing grade?

Options:

1. = 2

h

2.

Question Number : 97 Question Id : 9983675697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AOIT Fr 9ieT F 75 FaOre BT AT &, 5 HArer H ¥ 10 HIA HFA0T F, 30 TIA F=E0T F

3R 35 waE A & U1 vs o X F FAFOT F 70% T, 0T F 40% TS 3R HAr
¥ 60% HaTel ¥F WE AT G| FEIH Fer 37 60% & FH @ & HROT X IeT F I8 7 & T
60% FHe& 9Iog ik TWIET 39107 F:a & o0 38 e 3R g9 = 98 3ea7 &1 gem?

Options:



Question Number : 98 Question Id : 9983675698 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

During a certain year, the population of a village increased by 5% and, during the next year. the population decreased by
5%. If the total population is 9975 at the end of the second year, then what was the population size at the beginning of
the first year?

Options:
1. = 7000

7 % 9000
3.« 10000

A % 11000

Question Number : 98 Question Id : 9983675698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁﬁﬂaaﬁ#ﬁuﬂ,m?ﬁaﬁmﬁswoﬁqﬁgéaﬂmmaﬁﬁéfnﬂ,m:?’r%
& FAT TS| T GEL AW F HT H FoI AF6Ear 9975 §, A g a¥ FH qRIHT H FATEAT B T0AT
FL?

Options:



1. =« 7000

5 % 9000
3. « 10000
A % 11000

Question Number : 99 Question Id : 9983675699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A drone flies along the four sides of a square field at the speeds of 200, 400, 600 and 800 m'h. Then the average speed
of the drone around the field is:

Options:
1. ¢ 384m/h

? % 370m/h

3 % 368mh

4 = 354mh

Question Number : 99 Question Id : 9983675699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T g 200, 400, 600 3T 800 m/h & I F T =R ST & AR R IsAT &1 HET F IR AW
3T & HEg T

Options:

1. « 384 mh



2 % 370 mh

3. » 368 mh

4. % 354 mh

Question Number : 100 Question Id : 9983675700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of X and Y is 20 years. If Z replaces X, the average becomes 19, and if Z replaces Y, the average
becomes 21. Then the ages of X, Y and Z, respectively, are:

Options:
1. v 22,18,20

D % 20,20, 18

3 x 18,2220

4 % 22,20,18

Question Number : 100 Question Id : 9983675700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

XYy HFmasgoavg Rz XHrwgaay dmima9aamrg dvagz v
$r ST AT g, o 3Ea 21 @ Far g1oar X, Y 3R Z #r sy FAw g

Options:

1 » 22,18, 20

2 % 20,20, 18



3 % 18,22, 20

4« 22,20, 18

Arithmetic Ability?2

Group Number : 6
Group Id: 998367222
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 998367228
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367332
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983675701 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A dishonest shop keeper sells his products at the cost price; however, he uses a weight of 900 g for 1 kg. Then the gain
percentage is:

Options:



5
= ol
1. = 519;{)

1
3 55,
2. 9’{}

1
iy
7 59;‘6

S
4 = 1119;{:I

Question Number : 101 Question Id : 9983675701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A GHFEER HIS 3eUEl H AR Hed T AT & Flith, 9g el & =9 W 1 kg F TR
37¢ 900 g T=1 & & 1 GFCR F A Fiaerd FAT g

Options:
5
A
1. = 19&'
111%’
2. ¢ 97

1
)
3. % 9%
11>
4 % 197

Question Number : 102 Question Id : 9983675702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A person sold a book at a profit of 15%. If he had bought it at 10% less and sold it for Rs. 4.5 more, he would have
gained 25%. The cost price of the book is:

Options:
1. # Rs. 130

7 % Rs. 150

3« Rs. 180

A % Rs. 190

Question Number : 102 Question Id : 9983675702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U e F TF GEaF 15% & S W A W 3HS Jhae H 10% FH HeI W TS g HR
ﬁ@ﬁﬁwg\mﬁm4.smmﬁmgﬁmﬁaﬁ%%mm§mmiWﬂmnp%z

Options:

1. = T97 130
2 % T 150
3. v TIF 180
4. % T 190

Question Number : 103 Question Id : 9983675703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper purchases 8 pencil erasers from a wholesale dealer for Rs. 10 and sells 10 pencil erasers for Rs. 8. The
profit or loss percentage is:

Options:



1. = 30% profit

? % 30% loss

3 x 36% profit

4.« 36% loss

Question Number : 103 Question Id : 9983675703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HAGR TH Ui A & 8 Sfder WX 10 F @lear € 3R 10 e @Y o 8 7 aw &
AT I7 Eiie giaera gem:

Options:
1. = 30% =meT

2« 30% @i

3w 36% °H

4 o 36% @i

Question Number : 104 Question Id : 9983675704 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

An article whose marked price is Rs. 800 is sold at Rs. 699.20 after two successive discounts. If the first discount given
is 8%, then what is the percentage of the second discount?

Options:
1. & 4.5%



4 = 6.4%

Question Number : 104 Question Id : 9983675704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v Fq fAEH Afha Hew T9F 800 ¥, & SFTaR & Tl F &g T4 699.20 # &= Fwr 71 IfY wgen
T 8% &, A THY TE F Hiawd AT H?

Options:

1. % 4.5%
2. v 5%
2 ox 6%
A = 6.4%

Question Number : 105 Question Id : 9983675705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper sold an article for Rs. 3135 after giving 5% discount on the marked price. Had he not given the discount,
he would have earned a profit of 10%. Find the cost price of the article.

Options:
1. # Rs. 3150

7 % Rs. 3300



3. % Rs. 3600

4. «» Rs.3000

Question Number : 105 Question Id : 9983675705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UH ZHFEER J hEr I8g & Ao HAed W 5% Fr T A & g 38 T9F 3135 F ¥4| IfE 3WA o
7 &1 gl aF 3§ 10% F A g3 ATl TEG I A Hod A DT

Options:

1. %= TIF 3150
2 % T 3300
3. % TIT 3600
4. « T 3000

Question Number : 106 Question Id : 9983675706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum of money amounts to Rs. 756 in 2 years and to Rs. 873 in 4 vears. The rate of interest is:
Options:
1. = 9%

7 v 9.15%

3. % 9.25%



4 = 9.3%

Question Number : 106 Question Id : 9983675706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s o ofer 2 gt & w9 756 3t 4 @mEt & 9 873 @ ST Bl sy Fr @T Hir T FL

Options:

1. = 9%

2. v 9.15%

3. % 9.25%

4. = 9.3%

Question Number : 107 Question Id : 9983675707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum of money was put at simple interest at a certain rate for 2 years. If it had been put at 3% higher rate, it
would have fetched Rs. 330 more. The sum of money is:

Options:

1. &= Rs. 35000

E\J
<

&
LN
L
=
=

3. % Rs. 6000

A. % Rs.6500

Question Number : 107 Question Id : 9983675707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



By R ofr = 2 grat & B g sas v FEfRe BT o afy 3@ 3% 3= g 9T eeman
T BT, A SO & ¥ H 98 330 HOw fHer g mer vl i aoer S

Options:

1. = 93 5000
2. » TIH 5500
3. % TIF 6000
4. = TIH 6500

Question Number : 108 Question Id : 9983675708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: : g i o g i
The simple interest on a sum of money is = of the principal, and the number of years is equal to the rate percent per
annum. The rate percentage is:

Options:

1. = 2%

3. % 4%

A s 4.5%

Question Number : 108 Question Id : 9983675708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et TfY <X FremoT s eree # — € X aet f FE g 3§ # @ afera F e E &
ST & F0TAT

Options:



1. = 2%

2. v 25%
3 =% 4%
4 % 45%

Question Number : 109 Question Id : 9983675709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the compound interest and the simple interest on a sum of Rs. 60,000 for 2 vears is Rs. 96, the
rate of interest being the same in both cases The rate of interest per annum is:

Options:

1. & 2%

? % 3%

3. v 4%

Question Number : 109 Question Id : 9983675709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T9d 60,000 F AR & 2 @l & T TFgig = AR AR e W FERT & | 59 aEr
mﬁﬂ:aﬁameemmwzﬂmtﬁm?%aﬁmﬁmﬁawmﬁ,
gfaas st Fr 2T Fr 7O FL

Options:

1. = 2%



2 % 3%

3. v 4%

4 = 8%

Question Number : 110 Question Id : 9983675710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the compound interest on Rs. 15,000 in 2 years. the rate of interest being 4% for the first year and 8% for the
second year.

Options:
1. % Rs. 1448

7 % Rs. 1844

3.« Rs. 1848

4. % Rs. 1884

Question Number : 110 Question Id : 9983675710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 15,000 WX 2 F@E & o mRgfy s @ e FY, F9fF s i X v /e 4% HR g
7T 8% 2
Options:

1. % TIF 1448

D, x TA 1844



3. v T 1848

4. » T 1884

Question Number : 111 Question Id : 9983675711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider a triangle whose sides are 50 cm, 78 cm and 112 cm respectively. The length of the perpendicular line from
the opposite angle on the side that is 112 cm in length is:
Options:

1. + 30cm

? % 32cm

3. % 34cm

4 =% 36cm

Question Number : 111 Question Id : 9983675711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fegst &1 i ofSIT FAw 50 cm, 78 cm 3R 112 em 1 112 cm F7el =0 & fFada Hor @
Options:

1. ¢ 30 cm

2 % 32 cm

3 % 34 cm



4 = 36 cm

Question Number : 112 Question Id : 9983675712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A rectangular park 60 m long and 40 m wide has two concrete crossroads running in the middle of the park. The rest
of the park has been used as a lawn. If the area of the lawn is 2204 m?, then what is the width of the road?

Options:

1. = 3m

Question Number : 112 Question Id : 9983675712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wmmtrﬁscmﬁiﬁT}ﬁTmmaﬁsT%,mé:é:éﬂa’faﬁﬂaﬁﬁE#nﬁraﬁg@%lai"fgtrtrﬁ‘ﬁ
F STIATT T F FF F a0 37 @ & ofE 90 =7 a5%a 2204 m? ¥ O e F 7T &y S
g

Options:
1. = 3 m
2 % 2bm

3. ¢ 2m



Question Number : 113 Question Id : 9983675713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A hollow cylindrical tube, open at both ends, is made of plastic 2 mm thick. If the external diameter is 50 mm and the
length of the tube is 70 mm, the volume of plastic in it is:

Options:

1. =% 20120 mm?

? % 21220 mm?

3 % 21210 mm?

4« 21120 mm?

Question Number : 113 Question Id : 9983675713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T GIGST SR <gF, Al R X ol § 3R 2 mm Al camiies & &= ¢ Al $HT agdr s

=

50 mm 3R zg& #T Fag 70 mm § @ SEH T SAIEcs H HAAT A B

Options:

1. = 20120 mm?

2 % 21220 mm?

3. % 21210 mm?

4 « 21120 mm?



Question Number : 114 Question 1d : 9983675714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15 Men can plant 120 trees in 5 hours. If 5 men left the job. how many trees will be planted in 10 hours?
Options:
1. = 120

7 % 140

3. % 150

A v 160

Question Number : 114 Question 1d : 9983675714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15 9%w fAe@t 5 =l # 120 93 &1 ®Wed ¢l Il 574 ¥ 5 T8 &A Gisa oo A ¢ af 10 9¢ &
forder UT SENT AT A2

Options:
1 % 120
2 % 140
3. % 150
4. «» 160

Question Number : 115 Question Id : 9983675715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

5 Men can prepare 20 chairs in 8 days working 6 hours a day. Then in how many days can 9 men prepare 30 chairs
working 8 hours a day?

Options:



1. « 3days

2 10days

3 x l5days

4. = 20days

Question Number : 115 Question Id : 9983675715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 Tw 8 faat T%F U= 6 U FA FIF 20 FTEAT & Fohd ¢ o 0T FY 3 9 THWN F 8 T
AT 1A 4 30 FTEA ga F vl et &1 ga7g o@wm?

Options:

1. v 5%

2. % 10 &=

3 % 15 fe=

4« 20 R

Question Number : 116 Question Id : 9983675716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two persons X and Y jog around a circle of circumference 3600 m at speeds of 150 m and 180 m per minute
respectively. If both start simultaneously from the same point and walk in the same direction, after how many minutes
will they both be together again at the starting point for the first time?

Options:

1. #= 30 minutes



? % 60 minutes

3. % 90 minutes

4. « 120 minutes

Question Number : 116 Question Id : 9983675716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar =T X 3R Y us 3600 m oY & g oY & =Ry 3w dls eem @ ¥, & ot wHe 150 m
3R 180 m wix fee &1 aft el ver & g & vs & o 0 € AR v @ G F wew §
fraer fee g 3 a= Tgel A AT Rig W T & v Ty g

Options:
1 = 30 e
5 % 60 e
3 % 90 B
4. v 120 A=

Question Number : 117 Question Id : 9983675717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bus travels continuously for 14 hours. For the first half of the distance, it travels at an average speed of 60 kmph and
at 80 kmph for the second half. Then the distance travelled by the bus is:

Options:
1. = 620km

7 % 740 km



3. % 830km

4.« 960 km

Question Number : 117 Question Id : 9983675717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &6 AR 14 €¢ & Toid! W@ar g1 Tgeir 3Tl g I8 60 kmph 3 3wTelr 3meft gfr 80 kmph
afd ¥ T FAT ¢l dF FH g@RT 97 H % g &

Options:

1. % 620 km
2 % 740 km
3. % 830 km
4. v 960 km

Question Number : 118 Question Id : 9983675718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bus running at a speed of 60 kmph leaves a place at 10 am. Another bus running at a speed of 80 kmph leaves the
same place at 3 pm in the same direction. After how much distance from the starting point will they be together?

Options:
1. = 500 km

? % 600 km

3 % 1000 km



4« 1200 km

Question Number : 118 Question Id : 9983675718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

60 kmph Fr aIfF ¥ I T T 9 TF FUF ¥ 10 am 9T Tolar g1 80 kmph Fr IFaR & I T TF
gEY §§ 3 pm R 3 fEaw 1 3N Twadr g1 F @ 78 et Bg & el g ¥ 9w ¥ v Ay
gt

Options:
1. % 500 km
2 % 600 km

3. % 1000 km

4. v 1200 km

Question Number : 119 Question Id : 9983675719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following graph shows the annual profit percentage of a company during 1996-2001:
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1996 1997 15998 15995 2000 2001

If the income in 1999 was Rs. 264 crore, then the expenditure in 1999 js:
Options:
1. # Rs.104 crore



? % Rs. 145 crore

3« Rs. 160 crore

4. % Rs.185 crore

Question Number : 119 Question Id : 9983675719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e oT% 1996-2001 & ZHIT U &UAT & I ey Sigerg & Zoifar &
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Options:

1. « T 104 &5

2 % T 145 U3

3 o 9T 160 F3

A » TOU 185 HS

Question Number : 120 Question Id : 9983675720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following graph shows the annual profit percentage of a company during 1996-2001.
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What is the average profit of the company during the given years?

Options:

2
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Question Number : 120 Question Id : 9983675720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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General Englishi
Group Number : 7
Group Id: 998367223
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20

IsthisGroup for Examiner?: No
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Maximum Instruction Time: 0
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General Englishil

Section Id : 998367229

Section Number : 1

Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367333
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983675721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Anita is very stubborn and never listens to other people. Her
friends call her

Options:

1. = wild

2. = naughty

3. = perseverant
4. v headstrong

Question Number : 121 Question Id : 9983675721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Anita 1s very stubborn and never listens to other people.

Her friends call her

Options:



1. = wild

2. * naughty

3. = perseverant
4,

v headstrong

Question Number : 122 Question Id : 9983675722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following word.

DOXOLOGY

Options:

1. = The study of old religions

2. * The ancient study of manuscripts

3. » Cave paintings found in ancient times
4. v A short hymn or song praising God

Question Number : 122 Question Id : 9983675722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the most appropriate meaning of the following word.

DOXOLOGY

Options:

1. = The study of old religions
2. » The ancient study of manuscripts
3. = Cave paintings found In ancient times

4, v A short hymn or song praising God

Question Number : 123 Question 1d : 9983675723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate meaning of the underlined
idiomatic phrase.

The child’s constant whining drove his mother up the wall.

Options:

1. v Irritated the mother
2. » Saddened the mother
3. = Tired the mother

4. = Upset the mother

Question Number : 123 Question Id : 9983675723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the underlined

idiomatic phrase.

The child’s constant whining drove his mother up the wall.

Options:

1. ¢ Irritated the mother
2. = Saddened the mother
3. # Tired the mother

4. = Upset the mother

Question Number : 124 Question Id : 9983675724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Hearing about the sudden loss in the stock market, the
manager completely

Options:

1. v broke down



2. = broke up
3. = blew up
4. = broke into

Question Number : 124 Question Id : 9983675724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Hearing about the sudden loss in the stock market, the

manager completely

Options:

1. v broke down
2. % broke up
3. = blew up

4. = broke Into

Question Number : 125 Question Id : 9983675725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The events that the festival of Hanukkah took place
during a particularly phase of Jewish
Options:

1. = Inspired, horrible, life

2. = influenced, turbulent, lifestyle
3. v inspired, turbulent, history

4. = motivated, terrible, history

Question Number : 125 Question Id : 9983675725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

The events that the festival of Hanukkah took
place during a particularly phase of Jewish
Options:

1. = Inspired, horrible, life
2. % Influenced, turbulent, lifestyle
3. v Inspired, turbulent, history

4. = motivated, terrible, history

Question Number : 126 Question Id : 9983675726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with verbs that correctly agree with the
given subjects.

“Economics,” said Nassau Senior, “ a science of wealth, not

of welfare.” That is, industry itself with the production
of the greatest possible quantity of goods, and not worry
about the results to producer and consumer.

Options:

1. v 18, concerns, does

2. % are, concerns, does
3. = 1s, concern, do

4, = are, concern, does

Question Number : 126 Question Id : 9983675726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with verbs that correctly agree with the
given subjects.

“Economics,” said Nassau Senior, a science of
wealth, not of welfare.” That I1s, industry _ itself with
the production of the greatest possible quantity of goods,
and  not worry about the results to producer and

consumer.

Options:

1. v Is, concerns, does

2. = are, concerns, does
3. %= Is, concern, do

4. = are, concern, does

Question Number : 127 Question Id : 9983675727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following conditional sentence:

If the soldiers stay awake

Options:

1. v they will be able to see the mysterious beast roaming in
the nights.

2. = they would see the mysterious beast roaming in the
nights.

3. = they would have seen the mysterious beast roaming in
the nights.



4. = they could have seen the mysterious beast roaming in the
nights.

Question Number : 127 Question Id : 9983675727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following conditional sentence:

If the soldiers stay awake

Options:

1. v they will be able to see the mysterious beast roaming

in the nights.

2. = they would see the mysterious beast roaming In the

nights.

3. # they would have seen the mysterious beast roaming In

the nights.

4, = they could have seen the mysterious beast roaming In

the nights.

Question Number : 128 Question Id : 9983675728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given
options.

Options:

1. » Ram won €1 millions in the lottery.
2. » Ram likes playing cricket in the weekend.

3. = Ram works very hardly to achieve success early in his
life.

4. v Ram completed his master’s degree in Administration.

Question Number : 128 Question Id : 9983675728 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given
options.

Options:

1. * Ram won €1 millions in the lottery.
2. = Ram likes playing cricket in the weekend.

3. » Ram works very hardly to achieve success early In
his life.

4. v Ram completed his master's degree in Administration.

Question Number : 129 Question Id : 9983675729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate adjective.

The thief had procured an 1.D. card using a name
and it is going to be tough to trace him. We need a
detective to find the thief.

Options:

1. = fictional, ohsessed

2. = Imaginary, zealous
3. # legendary, enthusiastic
4. v fictitious, smart

Question Number : 129 Question Id : 9983675729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate adjective.

The thief had procured an |.D. card using a

name and It I1s going to be tough to trace him. We need a
detective to find the thief.

Options:

1. = fictional, obsessed
2. % Imaginary, zealous
3. * legendary, enthusiastic

4. v fictitious, smart

Question Number : 130 Question Id : 9983675730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
volce.

Three members of the inspection committee observed the
security measures followed by the employees during the
change of shift.

Options:

1. = The security measures were followed by employees
during the change of shift were observed by the three
members.

2. = Three members of the inspection committee were
observed by the employees during the change of shift.

3. * The inspection committee members observed the security
measures that were being followed by the employees during
the change of shift.



4. v The security measures followed by the employees during
the change of shift were observed by the three members of
the inspection committee.

Question Number : 130 Question Id : 9983675730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

passive voice.

Three members of the inspection committee observed the
security measures followed by the employees during the

change of shift.

Options:

1. = The security measures were followed by employees
during the change of shift were observed by the three

members.

2. = Three members of the inspection committee were

observed by the employees during the change of shift.

3. * The Inspection committee members observed the
security measures that were being followed by the

employees during the change of shift.

4. v The security measures followed by the employees
during the change of shift were observed by the three

members of the Inspection committee.

Question Number : 131 Question Id : 9983675731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are two statements numbered I and II. There may be
cause and effect relationship between them. Or both might be
effects of some independent cause or independent causes.

Choose the appropriate option after reading the following two
statements:

I. In this year’s Class 10 results, among the Government
schools, the pass percentage of girls was higher than the boys.
II. Many math teachers in private schools resigned from their
jobs preferring to do online teaching.

Options:

1. = Statement I is the cause and Statement II is the effect.
2. % Statement II is the cause and Statement I is the effect.
3. » Both statements are effects of one specific cause.

4. v Both statements are independent statements with no
relation to each other.

Question Number : 131 Question Id : 9983675731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are two statements numbered | and Il. There may be
cause and effect relationship between them. Or both might
be effects of some Independent cause or independent

CalUSeSs.

Choose the appropriate option after reading the following

two statements:

l. In this year's Class 10 results, among the Government
schools, the pass percentage of girls was higher than the
boys.

Il. Many math teachers in private schools resigned from

their jobs preferring to do online teaching.

Options:

1. = Statement | Is the cause and Statement Il 1s the effect.
2. = Statement Il is the cause and Statement | is the effect.
3. = Both statements are effects of one specific cause.

4, v Both statements are Independent statements with no

relation to each other.

Question Number : 132 Question Id : 9983675732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

both your parents are working in a government service,
you are not eligible for the corporate scholarship.

Options:

1. v As

2. % For

3. = Where

4. = In spite of

Question Number : 132 Question Id : 9983675732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

both your parents are working in a government

service, you are not eligible for the corporate scholarship.

Options:

1. v As

2. = For

3. = Where

4. = In spite of

Question Number : 133 Question Id : 9983675733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in reported
speech.

Andrew Mattioda said, “When the coal mines shut down in, I
guess, the 1950s in Oklahoma, my family opened a full-service
gas station.”

Options:

1. v Andrew Mattioda said that when the coal mines shut
down in the 1950s, in Oklahoma his family had opened a
full-service gas station.

2. » Andrew Mattioda answered that after the coal mines
were shut down in Oklahoma in the 1950s they opened a
full-service gas station.

3. » Andrew Mattioda said that when the coal mines were
shut down in the 1950s in Oklahoma, his family opened a
full-service gas station.

4. = Andrew Mattioda worked in a full-service gas station
before the coal mines were shut down in the 1950s.

Question Number : 133 Question Id : 9983675733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

reported speech.

Andrew Mattioda said, “When the coal mines shut down In,
| guess, the 1950s in Oklahoma, my family opened a full-

service gas station.”

Options:



1. v Andrew Mattioda said that when the coal mines shut
down in the 1950s, in Oklahoma his family had opened a

full-service gas station.

2. = Andrew Mattioda answered that after the coal mines
were shut down in Oklahoma in the 1950s they opened a

full-service gas station.

3. = Andrew Mattioda said that when the coal mines were
shut down in the 1950s in Oklahoma, his family opened a

full-service gas station.

4. = Andrew Mattioda worked in a full-service gas station

before the coal mines were shut down in the 1950s.

Question Number : 134 Question Id : 9983675734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The Chief Engineer has delayed his departure to his head
office he can complete the project on time.

Options:

1. = because
2. = until

3. * as soon as
4. v so that

Question Number : 134 Question Id : 9983675734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

The Chief Engineer has delayed his departure to his head

office he can complete the project on time.

Options:

1. = because
2. = until
3. % as soon as

4. v so that

Question Number : 135 Question Id : 9983675735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gliven in the options is a compete sentence that has been
divided into four parts. The four parts are jumbled. Rearrange
the jumbled parts and find the part that has a grammatical
error.

Options:

1. = she started working

2. = and so after her graduation

3. v she wanted always to be a writer
4. = In a publishing house

Question Number : 135 Question Id : 9983675735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given In the options IS a compete sentence that has been
divided into four parts. The four parts are jumbled.
Rearrange the jumbled parts and find the part that has a

grammatical error.

Options:



1. = she started working

2. * and so after her graduation

3. v she wanted always to be a writer
4. %= In a publishing house

Question Number : 136 Question Id : 9983675736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the four sentences given in the options which one has the
correct word order?

Options:
1. = From ancient times earthquakes were assoclated with
volcanic eruptions.

2. * The volcano Vesuvius in the history of the study of
selsmic signals associated with volcanic activity occupies a
special place.

3. = The seismic signals originating from volcanic activity the
first observations of volcanic earthquakes showed that had
different waveforms.

4. v Volcanic eruptions are divided into four types according
to the location of their foci, their relationship to the eruptions,
and the nature of the earthquake motion.

Question Number : 136 Question Id : 9983675736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the four sentences given In the options which one has

the correct word order?

Options:

1. = From ancient times earthquakes were associated with

volcanic eruptions.



2. » The volcano Vesuvius In the history of the study of
seilsmic signals associated with volcanic activity occupies a

special place.

3. ®» The seismic signals originating from volcanic activity
the first observations of volcanic earthquakes showed that

had different waveforms.

4. v Volcanic eruptions are divided into four types according
to the location of their foci, their relationship to the

eruptions, and the nature of the earthquake motion.

Question Number : 137 Question Id : 9983675737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. Formed from wood pulp or plant fiber, paper is chiefly
used for written communication.

P. Paper was next made by the Chinese in the second century,
probably by a Chinese court official named Cai Lun.

(. Recognised almost immediately as a valuable secret, it was
500 years before the Japanese acquired knowledge of the
method.

R. His paper was made from such things as tree bark and old
fish netting.

S. The earliest paper was papyrus, made from reeds by the
ancient Egyptians.

6. Papermaking was known in the Islamic world only from
the end of the 8th century A.D.

Options:

1. = PRSQ
2. v SPRQ)
3.« QRPS
4. = SRQP

Question Number : 137 Question Id : 9983675737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
iIn between are jumbled up. Arrange the sentences In the

rnght order to form a meaningful and coherent paragraph.

1. Formed from wood pulp or plant fiber, paper i1s chiefly
used for written communication.

P. Paper was next made by the Chinese in the second
century, probably by a Chinese court official named Cai Lun.
Q. Recognised almost immediately as a valuable secret, it
was 500 years before the Japanese acquired knowledge of
the method.

R. His paper was made from such things as tree bark and
old fish netting.

S. The earliest paper was papyrus, made from reeds by the
ancient Egyptians.

6. Papermaking was known In the Islamic world only from
the end of the 8th century A.D.

Options:

1. = PRSQ
2. v SPRQ
3.« QRPS

4. = SRQP



Question Number : 138 Question Id : 9983675738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

Pushpa arrived for the meeting by the flight.

Options:

1. = early morning first
2. = early first morning
3. # first morning early
4. ¢ {irst early morning

Question Number : 138 Question 1d : 9983675738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

Pushpa arrived for the meeting by the flight.

Options:

1. = early morning first
2. % early first morning
3. = first morning early

4. v first early morning

Question Number : 139 Question Id : 9983675739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



One sentence has been removed from the following passage.

(A) The traditional view is that scientific knowledge is
cumulative. (B) Like doing a jigsaw that may take time and
involves taking pieces out as well as putting them in place, the
traditional view was that science is the process of assembling
a picture of the world that will one day be complete. (C) The
sclentific method rests on induction. (D)

The sentence to be inserted is:

Such marvelous achievement was thought possible because of
the scientific method.

Options:

1. = A
2.% B
3.v(C
4. %D

Question Number : 139 Question Id : 9983675739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



One sentence has been removed from the following passage.

(A) The traditional view Is that scientific knowledge is
cumulative. (B) Like doing a jigsaw that may take time and
involves taking pleces out as well as putting them In place,
the traditional view was that science 1s the process of
assembling a picture of the world that will one day be
complete. (C) The scientific method rests on induction. (D)

The sentence to be inserted Is:

Such marvelous achievement was thought possible because

of the scientific method.

Options:

1. = A
2. » B
3. v C
4. = D

Question Number : 140 Question Id : 9983675740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options when rearranged forms
the answer of the following question?

How did you write your examination?

Options:

1. = For the bus / to go to college / but took a cab / for the bus



2. v As I completely forgot / at the last minute /I didn’t write
it well / what all I read

3. = Late and / unlike my friends /I like waking up / sleeping
late too

4. = But not reading books / in my free time /I like watching /
movies

Question Number : 140 Question Id : 9983675740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options when rearranged forms

the answer of the following question?

How did you write your examination?

Options:

1. = For the bus / to go to college / but took a cab / for
the bus

2. v As | completely forgot / at the last minute / | didn’t

write 1t well / what all | read

3. = Late and / unlike my friends / | like waking up /

sleeping late too

4. = But not reading books / In my free time / | like

watching / movies

General English2
Group Number : 8
Group ld: 998367224
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?2

Section Id : 998367230

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367334
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 9983675741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

He tried to assuage his younger sister’s fears.

Options:

1. = aggravate
2. ¥ Progress

3. = degenerate
4. v alleviate

Question Number : 141 Question Id : 9983675741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

He tried to assuage his younger sister’'s fears.

Options:



1. = aggravate
2. ® progress
3. ® degenerate
4. v alleviate

Question Number : 142 Question Id : 9983675742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Ram’s improvident habits left him with no retirement savings.

Options:

1. = Thrifty

2. v Spendthrift
3. » ExXpended
4. = Responsible

Question Number : 142 Question Id : 9983675742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the most appropriate synonym of the underlined word.

Ram’s improvident habits left him with no retirement savings.

Options:

1. = Thrifty
2. v Spendthrift
3. = Expended

4, = Responsible

Question Number : 143 Question 1d : 9983675743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the following word.

PONDEROUS

Options:

1. = thoughtful
2. ® unaware
3. v awkward
4. = murderous

Question Number : 143 Question Id : 9983675743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the following word.

PONDEROUS

Options:

1. = thoughtful
2. * unaware
3. v awkward
4.

% murderous

Question Number : 144 Question Id : 9983675744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

To support or improve something or make it stronger

Options:

1. v Bolster
2. = Burden



3. = Challenge
4. = Stable

Question Number : 144 Question Id : 9983675744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words.

To support or improve something or make it stronger

Options:

1. v Bolster
2. = Burden
3. = Challenge
4. = Stable

Question Number : 145 Question 1d : 9983675745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

My sister I1s very reserved and taciturn

Options:

1. = Distance
2. v Reticent
3. = Qarrulous

4. = Playful

Question Number : 145 Question Id : 9983675745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

My sister is very reserved and taciturn

Options:

1. = Distance
2. v Reticent
3. = Garrulous
4. = Playful

Question Number : 146 Question Id : 9983675746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following words with their respective ANTONYMS.

Words Antonvms
(a) Rue (I) Scarce
(b) Copious (ii) Dissuade
(c) Spur (i11) Delight

Options:

1. x a-1ii, b-1i, ¢-1
2. % a1, b, c-lil
3.v alll, b, ¢l
4. = a-1i, b-il, ¢-1

Question Number : 146 Question Id : 9983675746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Match the following words with their respective ANTONYMS.

Match the following words with their respective ANTONYMS.

Words Antonyms
(a) Rue (i) Scarce
(b) Copious (i) Dissuade
(¢) Spur (iii) Delight
Options:

1. = a-ni, b-i, c-
2. % a-l, b-u, c-ni
3. v a-il, b-l, c-l
4. = a-i, b-u, c-

Question Number : 147 Question Id : 9983675747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

His pithy response irritated his father.

Options:

1. v Verbose

2. *» Meaty

3. » Innocuous
4. » Immediate

Question Number : 147 Question Id : 9983675747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined

word.

His pithy response irritated his father.

Options:

1. v Verbose
2. = Meaty
3. ® |nnocuous

4. = Immediate

Question Number : 148 Question Id : 9983675748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

DEPREDATION

Options:

1. = deception

2. v construction
3. = devastation
4, = consumption

Question Number : 148 Question Id : 9983675748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

DEPREDATION

Options:

1. = deception



2. v construction
3. = devastation

4, = consumption

Question Number : 149 Question Id : 9983675749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

ABSTAIN

Options:

1. = upset
2. = abscond
3. v indulge
4. = litter

Question Number : 149 Question Id : 9983675749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

ABSTAIN

Options:

1. = upset
2. % abscond
3. v Indulge
4, = |itter

Question Number : 150 Question Id : 9983675750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the following word.

INGENUOUS

Options:

1. = spontaneous
2. *» Impulsive

3. = 1gnorant

4. v devious

Question Number : 150 Question Id : 9983675750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the following word.

INGENUOUS

Options:

1. = spontaneous
2. = Impulsive

3. % Ignorant
4

. ¢ devious

Sub-Section Number: 2
Sub-Section Id: 998367335
Question Shuffling Allowed : Yes

Question Id : 9983675751 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions given
below:

They say that crime doesn’t pay. But for the authors who
dabble in the art of crafting crafty crooks and the brilliant
(and, at times, maudlin) detectives who end up catching them,
crime most definitely does pay. It pays so well that entire
regions (Scandinavia being a prime example) get transformed
into giant crime fiction-producing factories.

It pays so well that icons are created — both, of the fictional
detectives and their very real makers. Sherlock Holmes and
Arthur Conan Doyle, respectively, being a case in point. In
India, only two have truly reached such an iconic status —
Satyajit Ray with Feluda and Sharadindu Bandyopadhyay
with Byomkesh Bakshi — but there is no need to despair.
There is time, still.

Author Ashwin Sanghi, who has co-written two crime fiction
novels based in India with James Patterson, believes that it is
all a matter of time. And that the genre will soon be as
popular as romance and mythology in India. “We have to
understand the fact that commercial fiction writing is only
ten years old in India. We've not had the necessary amount of
time to evolve. I believe in the next two or three years, it will
become one of the dominant categories in the bestseller
space,” says Sanghi.

Anita Nair, who has delved into the disturbing world of crime
with ‘Cut Like Wound’ and ‘Chain of Custody’, too believes
that the genre is in its early stages in India. “Crime fiction is
still in its primary stage in India,” she says. "The chances of it
going global like Scandinavian noir will happen when
characters and issues written about have greater dimensions
than just the usual run-of-the-mill crime scene. We will have
to wait and see if that will happen.”



Sub questions

Question Number : 151 Question Id : 9983675752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the phrase ‘crime doesn’t pay’?

Options:

1. = People commit crime for money but they don’t get paid
easily.

2. v Committing crime doesn’t give any benefits.

3. » Committing crime 1s very difficult and not profitable.

4. = Committing crime is worthwhile these days.

Question Number : 152 Question Id : 9983675753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT a fictional detective
character?

Options:

1. = Feluda

2. v Sharadindu Bandyopadhyay
3. = Sherlock Holmes

4. = Byomkesh Bakshi

Question Number : 153 Question Id : 9983675754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following genres is the most popular one in
India?

Options:

1. * Neo Noir
2. = Dark Comedy
3. = Detective
4. v Romance

Question Number : 154 Question Id : 9983675755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What was the reason given by Ashwin Sanghi for crime
fiction not being popular in India?

Options:

1. = The reading public does not prefer Indian crime fiction.
2. » India has a strong presence in regional crime fiction;
English crime fiction is not preferred among readers.

3. v Commercial fiction writing is still evolving. Crime fiction
needs more time to become popular.

4. = The Indian audience prefers reading subaltern and
alienation stories rather than crime stories.

Question Number : 155 Question Id : 9983675756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Anita Nair, when will Indian crime fiction go
global?

Options:
1. = When our regional stories are translated in English, we
can easily gain global readership.

2. = It can become global if the plot is set in an international
setting.

3. * When we have the demand from international audience,
we will be able to meet the demands.

4. v It will go global only when characters and issues have
greater dimensions than stereotypical plots.

Question Id : 9983675751 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions given

below:

They say that crime doesn't pay. But for the authors who
dabble in the art of crafting crafty crooks and the brilliant
(and, at times, maudlin) detectives who end up catching
them, crime most definitely does pay. It pays so well that
entire regions (Scandinavia being a prime example) get

transformed into giant crime fiction-producing factories.

It pays so well that icons are created - both, of the fictional
detectives and their very real makers. Sherlock Holmes and
Arthur Conan Doyle, respectively, being a case in point. In
India, only two have truly reached such an iconic status -
Satyajit Ray with Feluda and Sharadindu Bandyopadhyay
with Byomkesh Bakshi - but there is no need to despair.
There is time, still.

Author Ashwin Sanghi, who has co-written two crime fiction
hovels based in India with James Patterson, believes that it
Is all a matter of time. And that the genre will soon be as
popular as romance and mythology In India. “We have to
understand the fact that commercial fiction writing is only
ten years old in India. We've not had the necessary amount
of time to evolve. | believe in the next two or three years,
it will become one of the dominant categories in the

bestseller space,” says Sanghi.

Anita Nair, who has delved into the disturbing world of
crime with ‘Cut Like Wound’ and ‘Chain of Custody’, too
believes that the genre Is in Iits early stages in India.
“Crime fiction is still in its primary stage in India," she says.
"The chances of it going global like Scandinavian noir will
happen when characters and issues written about have
greater dimensions than just the usual run-of-the-mill crime

scene. We will have to wait and see If that will happen.”



Sub questions

Question Number : 151 Question Id : 9983675752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What i1s the meaning of the phrase ‘crime doesn’t pay’?

Options:

1. = People commit crime for money but they don’t get
paid easily.
2. v Committing crime doesn’t give any benefits.

3. =  Committing crime i1s very difficult and not profitable.

4, =  Committing crime 1s worthwhile these days.

Question Number : 152 Question Id : 9983675753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following 1s NOT a fictional detective

character?
Options:
1. = Feluda

2. v Sharadindu Bandyopadhyay
3. =  Sherlock Holmes

4, = Byomkesh Bakshi

Question Number : 153 Question 1d : 9983675754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following genres i1s the most popular one In
India?

Options:

1. = Neo Noir
2. » Dark Comedy



3. = Detective

4. v Bomance

Question Number : 154 Question Id : 9983675755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the reason given by Ashwin Sanghi for crime

fiction not being popular in India?

Options:
1. = The reading public does not prefer Indian crime fiction.
2. * India has a strong presence In regional crime fiction;

English crime fiction is not preferred among readers.

3. v Commercial fiction writing I1s still evolving. Crime fiction

needs more time to become popular.

4. = The Indian audience prefers reading subaltern and

alienation stories rather than crime stories.

Question Number : 155 Question Id : 9983675756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Anita Nair, when will Indian crime fiction go

global?

Options:

1. = When our regional stories are translated in English, we

can easily gain global readership.

2. = |t can become global If the plot I1s set in an

iInternational setting.

3. = When we have the demand from international

audience, we will be able to meet the demands.



4. ¢ It will go global only when characters and issues have

greater dimensions than stereotypical plots.

Sub-Section Number: 3
Sub-Section 1d: 998367336
Question Shuffling Allowed : Yes

Question Id : 9983675757 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the questions that follow.

Data science is a detailed study of the flow of information
from colossal amounts of data present in an organisation’s
repository. It involves obtaining meaningful insights from
raw and unstructured data, which is processed through
analytical, programming and business skills.

In a world that is increasingly becoming a digital space,
organisations deal with zetta and yottabytes of structured and
unstructured information every day. Evolving technologies
have enabled better cost savings and smarter storage spaces
to store critical data.

In the current industry, there is a huge need for skilled,
certified data scientists. They are among the highest-paid
professionals in the IT industry. According to Forbes, “the best
job In America is as a Data Scientist with a median base
salary of $110,000” annually. Only a few people have the
capability to process it and provide valuable insight out of it.
Furthermore, looking at the huge requirement that is
increasing at a continual pace, McKinsey has predicted that
there will be a 50% gap in the supply of data scientists versus
its demand in the upcoming years. In the recent years, there
has been a huge growth in the field of Internet of Things (IcT),
due to which 90% of the data that is present in the current
world has been generated. Every day 2.5 quintillion bytes of
data is generated, and it accelerates with the growth of IoT.

Sub questions



Question Number : 156 Question Id : 9983675758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is data science?

Options:

1. = It is a branch of science dealing with data coding.

2. = [t 1s a detalled study of the backed up data of an
organization.

3. v It is a detailed study of information culled from various
types of data and the forming of meaningful insights.

4. = This branch of science manipulates data and converts
data so as to make it appropriate to the organization.

Question Number : 157 Question Id : 9983675759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following sentences is true according to the
given passage?
Options:

1. v Advanced technologies have helped in storing critical
data in a better way.

2. » Data scientist as a profession 1s not very lucrative.

3. » Technological advancements have proved there is no
need for data analysis.

4. = As data can be easily accessible people do not analyse
data anymore.

Question Number : 158 Question Id : 9983675760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Why are data scientists paid so well?

Options:

1. = Data sclence 1s an extremely exclusive subject and we don’
t have many people wanting to do the course. So there is a
high demand for data scientists.



2. » Only very few data scientists are available in the world
today and that is why they are paid well.

3. = Data science Is a classified area of work and people who
work in this field are paid high salaries.

4. v With so much data available in the digital world today,
there is a high demand for people to decipher the flow of
information.

Question Number : 159 Question Id : 9983675761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the prediction by McKinsey?

Options:
1. * There won't be any jobs for data scientists in the future.

2. = Data science will become a field suitable only for men in
the future.

3. v In the future, there will be a huge gap between demand
and supply of data scientists.

4. = In the future, data science jobs will be offered only to
people from developed countries.

Question Number : 160 Question Id : 9983675762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, which of the following has accelerated the
sudden growth of data generation?

Options:

1. = Use of iPads by the younger generation

2. v Growth in the field of IoT

3. » Spread of social media

4. = Importance of Internet among the common public

Question Id : 9983675757 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Read the passage and answer the questions that follow.

Data science is a detailed study of the flow of information
from colossal amounts of data present in an organisation’s
repository. It involves obtaining meaningful insights from raw
and unstructured data, which is processed through analytical,

programming and business skills.

In a world that Is Increasingly becoming a digital space,
organisations deal with zetta and yottabytes of structured
and unstructured information every day. Evolving
technologies have enabled better cost savings and smarter

storage spaces to store critical data.

In the current industry, there is a huge need for skilled,
certified data scientists. They are among the highest-paid
professionals in the IT industry. According to Forbes, “the
best job In America 1s as a Data Scientist with a median
base salary of $110,000” annually. Only a few people have
the capablility to process it and provide valuable insight out
of it. Furthermore, looking at the huge requirement that is
increasing at a continual pace, McKinsey has predicted that
there will be a 50% gap in the supply of data scientists
versus its demand in the upcoming years. In the recent
years, there has been a huge growth in the field of Internet
of Things (loT), due to which 90% of the data that is
present in the current world has been generated. Every day
2.5 quintillion bytes of data is generated, and It accelerates

with the growth of loT.



Sub questions

Question Number : 156 Question Id : 9983675758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What I1s data science?

Options:

1. = It 1Is a branch of science dealing with data coding.

2. % |t 1s a detailed study of the backed up data of an

organization.

3. v It I1s a detailled study of information culled from various

types of data and the forming of meaningful insights.

4. = This branch of science manipulates data and converts

data so as to make It appropriate to the organization.

Question Number : 157 Question Id : 9983675759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following sentences Is true according to

the given passage?

Options:

1. v Advanced technologies have helped in storing critical

data In a better way.
2. » Data scientist as a profession is not very lucrative.

3. = Technological advancements have proved there Is no

need for data analysis.

4. = As data can be easily accessible people do not

analyse data anymore.

Question Number : 158 Question Id : 9983675760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Why are data scientists paid so well?

Options:

1. = Data science Is an extremely exclusive subject and we
dont have many people wanting to do the course. So there

Is a high demand for data scientists.

2. » Only very few data scientists are avallable in the world

today and that i1s why they are paid well.

3. = Data science i1s a classified area of work and people

who work In this field are paid high salaries.

4. v With so much data available in the digital world today,
there 1s a high demand for people to decipher the flow of

information.

Question Number : 159 Question Id : 9983675761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What i1s the prediction by McKinsey?

Options:

1. = There won’t be any |obs for data scientists In the

future.

2. » Data science will become a field suitable only for men

In the future.

3. v In the future, there will be a huge gap between

demand and supply of data scientists.

4. = |In the future, data science jobs will be offered only to

people from developed countries.

Question Number : 160 Question Id : 9983675762 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

As per the passage, which of the following has accelerated

the sudden growth of data generation?

Options:

1. = Use of IPads by the younger generation
2. v G@Growth In the field of loT
3. = Spread of social media

4. » |Importance of Internet among the common public
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Question Number : 161 Question Id : 9983675763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T HaT Uec §?

Options:

Question Number : 161 Question Id : 9983675763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rrgdhr Far s &2

Options:

1. = Tagelr
2. v 2ol
3. = dgd
4. = ToHH

Question Number : 162 Question Id : 9983675764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ¥ 3 oI 97 9o, T2 27

Options:

1. v 3MAT
2. % 38
3. % e
4. % 3TNT

Question Number : 162 Question Id : 9983675764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foed § O Hid T 5 did &7

Options:

1. v TR
2.%3—1?13‘%"




3. % A
4. = 3Ty

Question Number : 163 Question 1d : 9983675765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & I BT 9T e goaw §?

Options:

1. *» 5

2. % ST
3. v SHr
4, = Sty

Question Number : 163 Question Id : 9983675765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT A & i TT 25 dcdH &7

Options:

1. = oI5

2. % STarel
3. v ST
4. = STHT

Question Number : 164 Question Id : 9983675766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g & & S o= aTelT e, g2

Options:

1. * YdiTer
2. % Ydi-eT
3. = YiaTeT
4. v YidmTe

Question Number : 164 Question Id : 9983675766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




o & & g gder aren ersg §7

Options:

1. = wdifae
2. % TcTieredT
3. » gfafardy
4. v Ufa&aS

Question Number : 165 Question Id : 9983675767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR — R e I BT gt Y g

Options:

1. » oI — I9d

2. % IS — HIGH
3. v g — 9
4, % T — ol

Question Number : 165 Question Id : 9983675767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R - R USE JIA FT Tl Y §-

Options:

1. = & - gad
2. » 3G - AlGA
3. v T - AlEH
4. = FOT - a0

Question Number : 166 Question Id : 9983675768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IATET Thg Y Pt GT 87

Options:

1. * Trdara®
2. ¢ HIddqTddh




3. % ShdTD

4. * STddT<ID

Question Number : 166 Question Id : 9983675768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ISl Tohd WhL whl AT 57
Options:

1. = ggriaraeh

v HTddI<l<h

2.
3. » =lFdardeh
4.

 —
# Jlllddiden

Question Number : 167 Question Id : 9983675769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

N g gad=TH @1 ' g7

Options:

1. % Ig
2. % ag
3.« 9
4, v S

Question Number : 167 Question Id : 9983675769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o TFT T9ATH FT §9 g7

Options:

1. = I8
2. = dg
3. = &
4. v S

Question Number : 168 Question 1d : 9983675770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TG ATCHT H g cha Tergigur g2

Options:

1. v IMT%Id GEITATIS
2. » MTEd G=gmar™a®
3. = AT Sep

4. = TUETI®

Question Number : 168 Question Id : 9983675770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘agﬁsimﬁ’ﬁag?r’c\a‘mﬁ?‘rw%?

1. v MTaTgad T&Iah

2. » TAT9gd g&Idaraeh
3. % TNATOT seeh

4, = 3IT0TdI<Ih
s |

Question Number : 169 Question 1d : 9983675771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g # g U1 8

Options:

1. v 94T
2. % THhetT

3. % QEGeT
4, IGST

Question Number : 169 Question Id : 9983675771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fareT & Fha® oig &-

Options:

1. v "l
2. % Toreholall




3. = Hgeldl
4. = ISl

Question Number : 170 Question Id : 9983675772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Ig ASPT U] STANT 19T & TshaT QW 3

Options:
1. » ag

2. % TSP
3. v U39l
4, % ST

Question Number : 170 Question Id : 9983675772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TS ISRl ULAET SR areFg H fohar faiwor -

Options:
1. = 9§

2. % OISRl
3. v UIET
4. = STAM

Question Number : 171 Question Id : 9983675773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T DI GY-Teede, gH:
Options:

1. % 5+ 3
2. T+ 3
3. % 9T+ 39
4. % {7 + 3

Question Number : 171 Question Id : 9983675773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T T GiY-TaTesg gIem:

Options:

1. = o + 37
2. v @ + 3
3. % & + 37
4, = & + 3el

Question Number : 172 Question 1d : 9983675774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Pran’ T oI IT U 72

Options:

1. = gz
2. % &

3. = Tamr

4. v Jgeiilg

Question Number : 172 Question 1d : 9983675774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FARR H el T A &7

Options:

1. dcgey
2. = gdeg
3. = fe@

s

4. v SESE

O

Question Number : 173 Question Id : 9983675775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘STEMYT # Tohg STZAT T T Z31T 32

Options:

1. = 31
2. * 3y



3. % 3Ty
4. v 34Y

Question Number : 173 Question 1d : 9983675775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Hﬂﬁw’ﬁﬁmmﬁ‘rmmgmﬁ

Options:

1. = 31
2. % Y
3. » M
4, v A9

Question Number : 174 Question Id : 9983675776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I # Thg Y T I Z31T g2

Options:

1. = 3T
2.5
3.vUT
4, % AT

Question Number : 174 Question Id : 9983675776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT H FT eI I 1;|'é:|’I?T§31T%‘?

Options:

1. = 31T

2. %
3. v T
4. = oA

Question Number : 175 Question 1d : 9983675777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



9 & BT 97 9o Sifelm TE 32

Options:

1. » €T

2. v T
3. » a&dd
4, = Teq=rar

Question Number : 175 Question Id : 9983675777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foiFet & et @71 ersg FHifeler Fa8T 87

Options:

1. = &I
2. v TEN
3. # G&cIh
4. = T&aTaam

Question Number : 176 Question Id : 9983675778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT AT T USa=el aT 38 52

Options:

1. v TohaT Teawy
2. * G-TH UCa8
3. = TSy uee-e
4, % AT U~

Question Number : 176 Question Id : 9983675778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TE&dT AT T USaeeT T 31807 &7

Options:

1. v TohaT Ucaey
2. = TAATH USFeeT




3. » TAQIVUT UcEeel

4. = AT ST

Question Number : 177 Question 1d : 9983675779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¥ TEI TIAT s oIg Pgl g1’ aATFT & g Bl 3 19 Y BT 3UaATad 52

Options:

1. » TaSwwr SUaTad

2. v YT IUATFY

3. = TopaIT SUATTT

4,  Tohar TaQruor Iuearera

Question Number : 177 Question Id : 9983675779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘H I8l Seldr T g8 Fal &I’ a9g H T8 Fal & g TR
T 39T &7

Options:

1. = YT IUare

2. v AT 39T

3. = TopdT 39T
4. = TopaT TILNUT 3Udrery

Question Number : 178 Question Id : 9983675780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Fgar g’ T TR BT aTad g?

Options:

1. v et dTFY
2.« Y qrag
3. * G q1dY
4,  IUAdTFY

Question Number : 178 Question Id : 9983675780 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

T FEAT 517 TR YR HT T &7

Options:

1. v O3 Ay

2. = T8y gy

3. = chrd GIER)

4. % IUGTHT

Question Number : 179 Question Id : 9983675781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCSHH T &8 & I 9T a1 e 87

Options:

1. * A HHINT 3Telt digl @r 7T
2. % AU HHIST 3Tell @T AT dgll
3. v B 3Tell DHINT Dg! @l T
4, » T 3Tl PHIS @ AT gl

Question Number : 179 Question Id : 9983675781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qeshA T TCC & wieT AT AT A B

Options:

1. % BT FATST 3Tl el ET I
2. = T FANST 3olell @AY T=T Fall
3. v AT 39Tl KA Fal @ =T
4. = AT IoTell KA I =T Far

Question Number : 180 Question Id : 9983675782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ray Bl S8 ¥ HIT 4T a1 I 872

Options:

1. * AT 7 T&dd DI U




2. % I TEAD Pl UG
3. % Wl 7 T&ID Pl UG
4, v HEG = TEID Dl TSIl

Question Number : 180 Question Id : 9983675782 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Hedd T TOC @ Hlel AT dATFT UG &7

Options:

1. * AT o &k FT T3

2. % HAT o TETh I TaT|
3. % Hleld o TETh I T
4

. v AlAd o GEdF HT &I
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Question Shuffling Allowed : Yes

Question Number : 181 Question 1d : 9983675783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Gl T TIIERT &

1. = 3ddol

2. = gfelel

3. v AR

4. = TSTAT

Question Number : 181 Question Id : 9983675783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g O TATIATIT &

Options:

1. % 3T
2. % Glofel
3. v AR
4. % AT

Question Number : 182 Question Id : 9983675784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T T T T

Options:

1. ¢ =T
2. % el
3. = Tgaug
4. = Ged

Question Number : 182 Question Id : 9983675784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIUT KT TATIGIT el &

Options:



1_ ' Eﬁh'g:”
2. % el

3. = @y
4, % BICHh

Question Number : 183 Question 1d : 9983675785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘31fe ThgeT TaTaamit 32

1. % E=dr
2. % od
3. = grur
4. v g7

Question Number : 183 Question Id : 9983675785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = GTAT
2. % Tdd
3. = H0T
4. v Y

Question Number : 184 Question Id : 9983675786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e ThgaT TaTadret §?

Options:
1. = sIgT

2. v Tareuy
3. = T8



4. % g

Question Number : 184 Question 1d : 9983675786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘el TohTeT TIT=IaT §7

Options:

1, » FEAT
2.+ sy
3. = felg
4. « 3o

Question Number : 185 Question Id : 9983675787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3rey Tohgant TaTIeT=il I8! 87

Options:

1. = 39
2. % T
3. v @I

4. % g

Question Number : 185 Question Id : 9983675787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘A&7’ TohdeRT TATIGRIT dal &7

'
1. = TE
2- % w
3. v FIOT
N
Question Number : 186 Question Id : 9983675788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST T Telell| STee; 2



Options:

1. v I
2. % I

3. = agst
4. % A

Question Number : 186 Question Id : 9983675788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT T TATH eTeg &
Options:

1. v 3alol
3. ® dalal

Question Number : 187 Question 1d : 9983675789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“ITh” T TeT A GIIT:

Options:

1. = 7O
2. v TR
3. = Ty

4. * T0[h

Question Number : 187 Question Id : 9983675789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘mg{ﬁd’ T Taeltd gEm:
Options:

1. % TaaFa
2. v ToI=a
3. » TaeR¥oT




4. % GoAbid

e

Question Number : 188 Question Id : 9983675790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘3Ter g fdeny g?

Options:

1. = 9Tl

2. % giduTer
3. = 3T
4, v 3~

Question Number : 188 Question Id : 9983675790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = T
2.

3. = iy
4. v Hecd

Question Number : 189 Question 1d : 9983675791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

St # g8 ATGFATET g1 Ulch @ IiTchd e, AT TelelTd I

Options:

1. = ToATSr
2. v Ao
3. » Taprd
4. % UG

Question Number : 189 Question 1d : 9983675791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Sad H g 3TIFAET §1° 9ied o IW@ifehd eeg &1 HalldH
g9

Options:

1. = TQaTer
2. v o
3. « Taola

4. » UG

Question Number : 190 Question Id : 9983675792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rfer a1 e 2

Options:

1. » CUS
2. » T
3. v Y
4. » Graemer

Question Number : 190 Question Id : 9983675792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tafer &1 e &:
Options:

1. = U3

2. % o

3. v faNy

4. » Hicemes

Sub-Section Number: 2
Sub-Section 1d: 998367339
Question Shuffling Allowed : Yes



Question Id : 9983675793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

STl T&d WU LTSN el Ugehd U8 T T[T dh Iqa Iy

TRTETS 3T ST dTer 3N YRS TUT Sefdh aTuiT Bl ofh Tgreyt Hith
el H Yehe go| HIXT U AT 37 eZegk & FTHdT GHIST l FId! el &
| et dht 2T TR o og erTT, ATt 3N shaT &7 Sfter Sie
e offl AT fotardt §- Uit FgT= AT TSATHT oI ATST HIRT B sTeATaT
AT oI 7T & ST dcdhTolte &Il ad AT SHTST § UT o1 31Ty dht e
gl WRT ST Yich T UgelT TUH HerTd4T gl DI ST SIS adaTT § Wi AT
THE T HIRT W eiierdr & 39 3Mesl P TATTAT dal g SIr 3T AY
UTGTId 31 HIRT Y diadr HAAIS, & TP DI diadT gl HIXT hi Drerar
TITDCATTE, <l o §- AGTEN TGT 7 IS hleitd Tot@d U HIT
ht STT JTCHETA [Wof T AT g ST ATRIAd X ATETIcHd SMTcHeTe qaT
ATde T Tl

Sub questions

Question Number : 191 Question Id : 9983675794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RT Rt At 2

Options:

1. = 3MMicaTeT
2. = qTdared
3. % 3MYHD By

4. v qith P

Question Number : 192 Question Id : 9983675795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T ATeT” T 32T &

Options:

1. v TAT&T 3=
2. SGIT 3T



3. % YU 3T
4, » ATdGeh AT

Question Number : 193 Question Id : 9983675796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“THLrA @ 37 &

Options:

1. » ST
2. v SITOTEQ

3. = 3T
4, ® &9

Question Number : 194 Question Id : 9983675797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yiare T 319 3

Options:

1. v T
2. % YT

3. * 3TTAIT
4, % HTHSET

Question Number : 195 Question Id : 9983675798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIRT <ht iadT fhdch YTdep @ dhicrdT §7?

Options:

1. * JUSIACIS,
2. % PTG
3. v gTHAIIG

4, % TITHEATATE,

Question Id : 9983675793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

ARTETS 3Yeil HAIET dTel 3 URER dUT Sy grofT I slehd
%ﬁraﬁmﬁmﬁlmmﬁrmwamwﬁ
HIAAT TATST T AT 24T &1 33T T 2o T o1 T8
ITEITAT, STarElT 3T ST T Siiger Sital 1 e of| #@wy
forardT & oSl Fg1a AT SEATAT ofdt #ISI #RT Sl SEaATAHT
HIST o9Ta oI9TdT & ST deehlelld AT addHTel AT H T ST
3TRT T I &1 ART T P kT Tgell T FaZHT gl
hiel TAT 3Tl TaHTT H 3T TeATAT TG hLaiT| ART TeTTereiTerd
o 3T et hr TATTAT FIAT § S 3T AT U EER §1 ART T
HIadT IHTATE & Ui I Riaar &1 #ART &1 Hadr
TITHEATIG, hl Shiddl g- Hagdl FodT FRI Fg Hlad
ﬁaﬁ?mﬁﬁmﬁﬁﬂmmqsmw AT =k
AT 3reTicHs cAsS doT sfde Heod oT|

Sub questions

Question Number : 191 Question Id : 9983675794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FART TopdehT shaiaEr g7

Options:

Question Number : 192 Question Id : 9983675795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘MTET TTel’ hT 3T &

Options:

1. v Sor&or =T

« SGIT O]

2.
3. = YIURTITT 30T
4, = ﬁﬁgﬁ—?r T=ROT

Question Number : 193 Question 1d : 9983675796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T T 3 §:

Options:

1. = AIHFT
2. v QQIIEd
3. = 3fhdel
4. = Braf

Question Number : 194 Question Id : 9983675797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TIThIT AT 37T &:

1. v AUy
2. % AT
3. % 3efROT
4.

« HTHIE

Question Number : 195 Question Id : 9983675798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FART =T Shiadr fohder Uidsh =T shigar §7

Options:



« UG

® dldAlodlg

v HIAJAR

ol

* TAdToaddlg

Sub-Section Number: 3
Sub-Section 1d: 998367340
Question Shuffling Allowed : Yes

Question Id : 9983675799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

Sl T&d WY TEer el UGehd U8 14 T[T & Iqa Iy

PEHInR DgHT H RTEd OeHT Ud TS & ATedd I U DI Sed IgTs
Pl SEITed BT gl I gI GATS H TehaTeiter Tty IraT=id Y1 i
JUITATAD YT TIIRdT 3TN 3Yd AT N Pl AT BT gl AGdH
T T S, 3T HeleTelTerdT TEY T T 370+ TS F STl gl S=Iey
o dTC, T T FTATIST GLAT # IrYdYel UiRerd =T §3IT 19t T ¢,
1T, TadTg, TR a1 TR, TRYTH, GTATId ST #
TRATGT §1aT gl &2 D YT TSI D BT GATS B YT, ST,
MY, ST 3T UReRe [Oa™Te-adetre 3N SdT 39 GHEATY I<id
25 g1 &2 i TTHINAT Ueh T WIS @1 g ST FATST 317 Fliged dl S8 @
AT BRI FeeT AT B SHTOTY 59 AR & ATigeadt 3 o geareit
<l TchTel+ HeRT DT TSI TS & el UuT (UST LTSI H TehdT gl

Sub questions

Question Number : 196 Question Id : 9983675800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEITSr # GTigeddn & (g €7 & [§ep g2

Options:

1. = &iar




2. % dTChhlT
3. % JUUTH P

4. v BEHIPBR

Question Number : 197 Question Id : 9983675801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TETTSr § U4 “UiRerer & 3L 3

Options:

1. v ITdTer<ur

2. % JT
3. % T9eT
4. % {qTYT

Question Number : 198 Question Id : 9983675802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘eI T 37 3

Options:

1. « AgaT
2. % GHAT
3. v ATH
4, % 3T

Question Number : 199 Question Id : 9983675803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gD @7 379 3

Options:

1. % WIS
2. % WETRToIT
3. = STad
4. v QUPTA

Question Number : 200 Question Id : 9983675804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

“Iwe T T e i &



Options:

1. * 3T
2. v @
3. = gTeg
4, = grerg

Question Id : 9983675799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

ST T8 910 I1SATer T Ygehd T5 - TLal & Sccl ST’

FElAThR Falal # ”ET gear vg aRaer & Aregq® I AT
T Silad HTdls 1 3eglfed AT &1 91 & gArst &
forarelter faffee ATATIGIR TeTaSaAl Shl GAATARIR UTaierhdT
M 3Tk GTATTSR 3GcTe T [SadeT H=dT &1 of@ss 1 dar
Tise, 3Tk Fagaeierdr @y Ta¥ 9 39« aRaer & SiEdr &l
STSIIET & &Te =T T FTATI T H 3T[TIT TRAceT g3
TN, GTATTSI GEam3t & gRNieT alar &1 39T sl ¥sc
TSTald o HRUT AT H FSCR, SUSTITRT, INET, e

M gRERe eERE-seaa e ST 3ol ATV 38Ied gé
?‘Ll @Tﬁmﬁmwiawaa W%EITWBA-T’ITW%?J
Rl ST T HRT TOCHIUT Scol ol gl SATGT SH i H
AIfEcTRT o ATHTISTR FEUTHT T Tchreilel fHeRT HT a3

AES T HeANUT 3T 13T H Far &1

Sub questions

Question Number : 196 Question Id : 9983675800 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

AT H HIigedh o vl §T HT Tolsh §7

Options:

1. = shig

2. % SlChhld

3. % 3YcYTHh

4. v FETalhr

Question Number : 197 Question Id : 9983675801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEITT H TFFA TARAT FT 3T ¢
Options:

1. v QIdTa{or
2. % 3ReY
3. = fEreq
4, = AT

Question Number : 198 Question Id : 9983675802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3geTe T MY &

Options:

1. = Hgcdl
2. = HIAT
3. v 39T

4. = 3MET

Question Number : 199 Question Id : 9983675803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JHATARS &7 AT &

Options:




1. = HT<TeT
2. = HEIhRTollel
3. % oedd

4. v GHFToI

Question Number : 200 Question Id : 9983675804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3edYUT T 3T &IdT o

Options:

1. % 3fefenlor
2. v @
3. = @y
4. = G



